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Identify the INCORRRECT facts about Earth among the following

FTATA Tehl HITd IeT Faea aea ATer
Options :

Mean distance from the Sun - abeout 15,00,00,000 KM

AATITEA Tea #a7 — a2 15,00,00,000 .37,

1. %

Orbital speed around the Sun — about 29.8 Km / second

| ATl TR TA1 - a2 29.8 .47, [A%a

Water covered area — about 361,300,000 Sq.KM

T ATFA A9 AL — g2 361,300,000 =, 4T,

Equatorial diameter - 40,077 KM

=g =419 — 40,077 .41,
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Identify the INCORRRECT facts about Earth among the following
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Options :
Mean distance from the Sun — about 15,00,00,000 KM
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The Government of India has introduced OCI cards in 2005 to Persons of Indian
Origin (PI0) conferring more benefits. OCI refers to

AT HTRTTA 2005 HeA ATTAA A9T=A1 FAf<oAT (PIO) SATH5 ATE% @9 It oqr=a1
Tt OCL 77 AT 39, OCL 7

Options :
Qutstanding Citizen of India

qAA T ITHY AT
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Original Citizen of India

2. %



Overseas Citizen of India
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Ocecaszional Citizen of India
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Identify the state among the following for which the respective State Legislative

Assembly Elections were also held along with the General Election, 2024

ATl e 61 7757 SAiepeT SAETS] Haefid 707 fqamaas=ar fqavr , 2024 diEq
FUATT AL

Options :

Manipur

T

w

1. %

Siklkim
2. ¥

Mizoram

3 % =

Meghalaya

HATAT
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Identify the state among the following for which the respective State
Legislative Assembly Elections were also held along with the General Election,

2024
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The medal won by Indian Hockey Team in 2020 Tokyo Olympics

2020 Z1fe=T Ao Ti® =7 qredi= gl dar fSiFee 1as

Options :
Silver

1. % T

Gold
=T

Bronze

A

Did not win any medal
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The medal won by Indian Hockey Team in 2020 Tokyo Olympics
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Silver

Bronze
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Did not win any medal
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The city that has hosted Asian Games the highest number of times 12

AATTEF BT ATTIATS Febi= A AT FeA el gL AL

Options :

Jalkarta

Beiljing
3. % "
Banglkolk

4, ¢ TP
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The city that has hosted Asian Games the highest number of times is
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The only other Asian country other than India that has hosted the

Commonwealth games as on 2023

TATISETT Ta7 THHT ATTSETE § S F AT FabT AF1eT 2023 J&7 Fef

Options :
Indonesia

EEGIEEL

Sri Lanka

zw’JﬁT-ﬁTF



Malayzaia
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The only other Asian country other than India that has hosted the

Commonwealth games as on 2023
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Schengen Area 1s related to countries within this continent that abolished

border controls at their mutual borders
ST & T AT deTdie aerisft Aasia g ST AT e deEa o g
Options :

South America
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Afriea
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Asia
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Question Number : 7 Question Id : 71505314934 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Schengen Area 1s related to countries within this continent that abolished
border controls at their mutual borders
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The Montreal Protocol. one of the most successful environmental agreements of

all time 18 related to
T FETE(, ST TFa0T=4T F97q AT FI0E 51 AgHT AT81 arg =7 94
S K ETI%

Options :

Conservation of biological diversity

S STTET afasad= JeaT
1. %
Human Cloning
i: " -
2. %
Substances that deplete the Ozone Layer
EIEIE e A E R | B A
3.¢
Prohibition of nuclear weapons on Sea-bed and Ocean Floor
qHEA® AT AZATTITET ATHF EATd7 S=q qe0
4. %
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The Montreal Protocol. one of the most successful environmental agreements of

all time 15 related to
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Conservation of biological diversity
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The time taken by the geostationary satellites for one orbit around the earth

A7 ITIEET T T A% THLHAT FLATE ATRT 98

Options :
12 hours

12 9

24 hours

249+



48 hours

48 AT

60 hours
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The time taken by the geostationary satellites for one orbit around the earth
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The daily newspaper ‘Mumbai Samachar’ that celebrated 200" anniversary in
June, 2022 15 published in this language

ST 2022 H=F 20047 FETIF faF AT FAML Z4F Has ARTAL T 4T 9799
Options :

Maratha

TS

1. %

Gujarati

2.«»’-"'@'

Hind:
3. 8 | %,-_"' *i

English
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The daily newspaper ‘Mumbai Samachar’ that celebrated 200" anniversary in
June, 2022 1s published in this language
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Options :
Marati

L0086

Gujarati
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One of the following is NOT a feature of Architecture during Mauryan
(Ashoka ) period

FTATA Th1 TF FET (A9TH) FTAGSTATA ATEqHAS A9 ATl

Options:
Rock-cut caves

Statues made of wood

ATHETATHA FaaA ] H—ﬁ

Stupas made of bricks

Pillars carved out of atone

TETT HlTeAd =04
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One of the following 1s NOT a feature of Architecture during Mauryan
(Ashoka ) period
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One of the following months in the Saka calendar has 31 days

g1 Tasralsieha areieraeh U=t AlgvaTa 31 &as aaama

Options :
Bhadrapada

1.¢
Asadha

5, o TN
Magha

qre
3. %



Phalguna

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.
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One of the following months in the Saka calendar has 31 days
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.
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‘Among the scheduled languages mentioned in Census of India, 2011, the

number of languages that fall under Dravidian group are

I ST 2011 HEH THE FAeAT AT AIAHE, Zae TE=47 dvia T

Options:
Five
1. %
Six
2. ® Yl
Four
3. R 1EA
Seven
4% 9
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‘Among the scheduled lansuages mentioned in Census of India, 2011, the
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number of languages that fall under Dravidian group are
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Identify the correct pair
Options:
Rubber Board — Kochi

TEL A - higl

Tea board — Kottayam

FE=T dI1S — FIZFH

Spices Board — Kolkata

; Fr-_'_-\ T

Coffee Board — Bengaluru

Question Number : 14 Question Id : 71505314941 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct pair
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Rubber Board — Kochi
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Tea board — Kottayam
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Substance used to reduce body temperature

ST TTIHTT FHT HIOTTH T4 STTL T279

Options :

Antipyretic

1.4

Antibiotic

2. %

Antigen

3. %

Antiseptic

o A A
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Substance used to reduce body temperature
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The test run of the missile RudraM II in May, 2024 off the coast of Odisha was

conducted by

H 7= THTed AT T UH AT A=

Options :

Indian Navy

1. %

Indian Air Force

2. ¥



Indian Army
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The test run of the miszile RudraM II in May, 2024 off the coast of Odisha was
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‘Aadharshila’ released in 2024 1s the National Curriculum for

2024 == FHTAT ATAAT ATLTIAT ZT L AATADH AT,

Options :

Early Childhood Care and Education

v ARTAHATHT S@ATA AT (LT

Vocational Education

ERIEZIEEIRIER TR

Senior Secondary Education
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Professional courses
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‘Aadharshila’ released in 2024 is the National Curriculum for

20246° DOH8S ‘wiite’ & G545 Somohodld eradh durprrds

— el

Options:

Early Childhood Care and Education

g [ e ¥
T aJi)

om

o] = el —_—
26 @wok 5585

all

=)

1.4

100
6100

Vocational Education

Senior Secondary Education

fed Lo

ot B Dol A Tl
hednb mEoih u:u'fi_.'lﬁ o

3. % :



Professional courses
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‘Vande Mataram’ was adopted as Republic of India’s National song on

Options:

2204 Jyuly, 1947

w22 1947

242 January, 1950

24 STaTir 1950
2. ¢

15tk August, 1947

15 =i ez 1947
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20tE Ngvember, 1949
4 % 297TeEa¥ 1949
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‘Vande Mataram’ was adopted as Republic of India’s National song on
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242 January, 1950

24 25568, 1950

15th August, 1947
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This sea has enormous content of hydrogen sulphide below 300 ft. making it

toxic

AT THETT 300 %2 FTEAT ZAZ IS TohIge + THIT T3 A S4THb a7 (29 a=ar

Options :

Red zea

ol Tl T
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Dead zea
2. % ol

Black sea
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Mediterranean sea

THET AT
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This sea has enormous content of hydrogen sulphide below 300 ft. making it

toxie
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“The Blue Umbrella’ 1s a book written by

T = AAAT AT feig
Options :
Amitav Ghosh
FTHAATST T
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Vikram Seth
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Anita Desa:
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Ruslkin Bond
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e
L

2

=
o

%

%o

es

.
—5 N art

[ o .., o % d
G &0 S0EER 0D J o
. s A

Options :

Amitav Ghosh

£

e
I e e
L:—'DJJ@ ol

O

Vikram Seth

-
oy Sn
ouooAd ol

]|

Anita Desai

T =
He)E GTo0n

Ruskin Bond

= =
Ociiem EFP05G

}
o

Perspectives in Education
Section Id : 715053553
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053710
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 71505314948 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
T.B. Macaulay through his Minutes proposed to spend Rs.1 lakh rupees in 18335
towards education. The amount was NOT meant to be used for one of the

following purpose?

1835 He &1, HPA AT AT ATA1Z 312 TeoraTst @< F20q7=1 W1 qil,

AT AT ST T T e A A

Options :
introduce and promote knowledge of western sciences to the natives of

colonies

TieaTHt i Wi FrHET IrEAre @A Aeod T q0 Q0

1. %
to encourage native Indian for overseas studies
HSFA AT FHETTE G290 T980T ST TETS] FIeaTa

2. %
to encourage western scholars to learn knowledge of sciences available in
India

y qreTeT [EgTaeT ATt STAsE AT (SR TETST

3.4
to revive and promote literature

4w AT AT qa%s (a9 4 daraT a9,
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T.B. Macaulay through his Minutes proposed to spend Rs.1 lakh rupees in 1333
towards education. The amount was NOT meant to be used for one of the
following purpose?
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to encourage western scholars to learn knowledge of sciences available in

India
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to revive and promote literature
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One of the following was NOT a part of implementation of National Policy on
Education (NPE), 1986
1986 =T ZTETT T9&IT FTTgTL ATATATHT BT TF AT Fed Togd.

Options :
1. %



Institute of Advanced Study in Education (IASE)
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College of Teacher Education (CTEs)
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One of the following was NOT a part of implementation of National Policy on
Education (NPE), 1986
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Institute of Advanced Study in Education (IASE)
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District Institute for Education and Training (DIET)
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In view of education of girls, one among the following considered men and
women as two wings of a bird
HeAT=AT TN TR FTATATh0 B0 UHT & T T2 2 T A7 20
UF ATEd A g Ale.

Options:

Swami Vivekananda
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Rabindranath Tagore
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B R Ambedkar
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Mahatma Gandh
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In view of education of girls, one among the following considered men and
women as two wings of a bird
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Swami Vivekananda
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The learning is exclusively incidental in
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The learning is exclusively incidental in
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With reference to functions of home, consider the following statements:
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A) Socialization
B) Acculturation
C) Propagating religious faith
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D) Moral learning
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A & Donly
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A, Cé& Donly
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With reference to functions of home. consider the following statements:
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D) DMoral learning
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What is India’s rank in gender gap index 2023?
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What is India’s rank 1 gender gap index 2023?
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The gap between those who have access to technology and those who have no

access to technology 1s referred as
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Cyber bullying

Technological dependence
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Digital divide
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Digital crowd sourcing
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The gap between those who have access to technology and those who have no

access to technology 1s referred as
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According to the cephalo-caudal principle of development. the sequence of
development 1s

Options:

Centre to the Outer p.’lI‘ES
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Head to Toe
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Toe to Head
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Outer parts to the Centre
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According to the cephalo-caudal principle of development. the sequence of
development 1s
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According to Piaget’s theory of Cognitive Development, this stage 1s

characterized by egocentrism.
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Concrete Operational Stage
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According to Piaget's theory of Cognitive Development, this stage 1is
characterized by egocentrism
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A teacher 15 conducting a brainstorming activity with her students to find more
ways of using solar energy in home and in school. The thinking style that does
not suit the activity 1a
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Convergent thinking
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Lateral thinking
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Divergent thinking
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Creative thinking
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A teacher is conducting a brainstorming activity with her students to find more

ways of using solar energy in home and i school. The thinking style that

DOES NOT suit the activity 1s

Options :
Convergent thinking
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Creative thinking
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According to Erikson. if a 2% year old boy's attempts to be independent are

blocked, this sense develops in him
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mferigrity
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According to Erikson. if a 2'2 year old boy's attempts to be independent are

blocked, this sense develops in him
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Certain students of a school used to water the plants after school hours. By
observing their activity, the class teacher praised them so as to continue the

activity. This 1s an example for
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Operant conditioning
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(lassical conditioning
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Insightful Learning
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Certain students of a school used to water the plants after school hours. By
observing their activity, the class teacher praised them so as to continue the
activity. This 13 an example for
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Operant conditioning
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(Classical conditioning
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Scope for forgetting 1s more among these learners
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Learners who learn meaningfully and use them
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Learners who by heart the concepts without understanding
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Learners who learn from their daily experiences
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Learners who learn through exploration and experimentation
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Scope for forgetting 1s more among these learners

it T, a £ £l 2y
& wgribhed” dyss edsdo D,-:CE__E.ZJET': Soétnobh

o

Options :
Learners who learn meaningfully use them

o ) ;B oy BTy A ol O "'-.,ﬂ. o
wixodorr o dd 6H0ArADET vrha

Learners who by-heart the concepts without understanding

- o Lo s o & £
BRMTPeTPs S50 tPHNe oMo B @werrnadien

@l

2. ¢



Learners who learn from their daily experiences
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The National Curriculum Frame work, 2005 aimed to
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Options :

provide a comprehensive and holistic frame work to higher education.
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provide a comprehensive and holistic frame work to technical education.
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provide a comprehensive and holistic frame work to school education.
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provide a comprehensive and holistic frame work to pre-school education.
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The National Curriculum Frame work, 2005 aimed to
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Options:
provide a comprehensive and holistic frame work to higher education.

ﬁ?{‘;'ﬁ E{'il’;é, cd ;IPEJJ $08cm u:mOu:g fjc-.l_.% u:;,_.u;_u' :}G" w0 wobioué %

1. %
provide a comprehensive and holistic frame work to technical education.
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provide a comprehensive and holistic frame work to school education.
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provide a comprehensive and holistic frame work to pre-school education.
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The following one 13 NOT a constituent unit of NCERT
areteaent Hord 7 NCERT = 92 UFid ATel

Options:

Regional Institute of Education, Bhubaneswar
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The Pandit Sunderlal Sharma Central Institute of Vocational Education
(PSSCIVE), Bhopal.
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Indian Institute of Science (IISC). Bengaluru.
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Central Institute of Educational Technology (CIET). New Delhi.
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The following one 1z NOT a constituent unit of NCERT
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What did the SDG replace when it was adopted by the United Nations General
Azzembly?
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Options:
The Global Development Framework

The Millennium Development Goals
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The Post-2015 Development Agenda
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The Sustainable Development Goals
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What did the SDG replace when it was adopted by the United Nations General

Aszembly?
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The Global Development Framework
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The Millennium Development Goals
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The Post-2015 Development Agenda
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The Sustainable Development Goals
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Which of the following best defines health?
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Options :

A state of complete physical. mental. and social well-being

1.¢

A state of physical and mental well-being only
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Absence of disease or infirmaity
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Complete physical well-being only
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Which of the following best defines health?
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A state of complete physical, mental. and social well-being
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Absence of diseasze or infirmaty
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What are Open Educational Resources (OERz)?

Options:
learning and teaching materials that are freely available online for

anyone to use.
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learning and teaching materials that are freely available offline for

anyone to use.
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learning and teaching materials that are available online on payment for

anyone to use.
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learning and teaching materials that are freely available online for only
teachers to use.
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What are Open Educational Rezources (OERs)?
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Options :
learning and teaching materials that are freely available online for
anyone to use.
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1.¢¥
learning and teaching materials that are freely available offline for
anyone to use.
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learning and teaching materials that are available online on payment for
anyone to use.
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learning and teaching materials that are freely available online for only

teachers to use.
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Section 17 of the Right of Children to Free and Compulsory Education Act, 2009

deals with the following
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Options :

No capitation fee and screening procedure for admission.

A HIIT B! HoTeera hf Thar e i1 TrHisT qarEt.

1.
Qualifications for appointment and terms and conditions of service of
teachers.
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Prohibition of private tuition by teacher.
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Prohibition of physical punishment and mental harassment to child.
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Section 17 of the Right of Children to Free and Compulsory Education Act, 2009

deals with the following

Loe 608 560 800 At P96 &o, 20095°3) N5 17 S0 B OAF H3H:rBn08

Options :

No capitation fee and screening procedure for admission.
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Identify among the following the LEAST significant cause of death in

developing nations
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Heart Dizease
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Obesity
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Cancers
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Infectigus diseases
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Identify among the following the LEAST significant cause of death in
developing nations
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Heart Dizease
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Obesity
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Infectious diseases
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Between May and June, in the plains of Northern India. ‘Loo’, the hot and dry
winds blow in this direction
IO ATLATATA AT AN H o S Z2E0 T g I A0 hiee a1 A7 {590
Options :
East to West

North to South
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Between May and June, in the plains of Northern India. ‘Loo’, the hot and dry
winds blow in this direction
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Options:

East to Wesat

1. %
North to South
&880 ol 55508
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From among the following, identify the characteristic feature of Khadar Plain

Options :

The narrow belt of this region 1s deposited with pebbles by the rivers

AT FEIT=AT A&7 TESATT AATAT ATgA ATAA TS HTHA AAATT

1. %

The soil in this region is renewed every year and is thus highly fertile

AT TSI AT TTAHT A 2T Hed ST A7 AT o AAT T AT
2.

3. %
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The soil in this region 1s composed of calcareous deposits

AT TRt AT TS (=T ATSA AT aTede | Fed

The soil in this region is wet and marshy

4 % AT AT HTdT ATAAL AT TA=A =1 AT
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From among the following, identify the characteristic feature of Khadar Plain
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Options :
The narrow belt of this region 1s deposited with pebbles by the rivers
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The soil in this region is renewed every vear and is thus highly fertile

3. %
The so1l in this region i1s wet and marshy
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Identify the correct statement regarding the interior of the earth
T =T AT Faterd T =Em Arear
Options :
The temperature decreases at an average rate of 19 C for every 5 m of

descent

Foa® 5 HizT IaTamT AT 10 Afenas a3 aTIHT wH gha

1. %
The mner core 12 the densest laver of the earth
ATATA TTAT 2T TEATAT Ja71d 212 97 AT
2.
The density of material decreases with the increasing depth inside the
earth
. T =T ATHA ATecAT AIATAag ATHI =T a1 AT 2id
3. ) '
Oceanic crust 1s thicker when compared with the continental crust
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. e Fa= Fre=a1 AT TR Fa=T==7 TATT T2 e
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Identify the correct statement regarding the interior of the earth
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The temperature decreases at an average rate of 1° C for every 5 m of

descent
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The inner core 13 the denseat laver of the earth
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The density of material decreases with the increasing depth inside the
earth
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Oceanic crust 1s thicker when compared with the continental crust
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With the help of the Grid. we can

Tr==aT "ad = Ao g HF bl
A)  Locate places and learn much about them
ToHTIr STrrar SATior Sr=ATa=d ATigdl S0 =00
B) Know the direction of a place that we should go to reach it

T PSHETTHT fR9 St 207 {579 A et s+ #g

C) Know the local time of a place

ToToTT=iT #T{=F 5 ST =0

D)  Know the altitude of a place

Choose the correct answer

by S [
4 ST i< s]

Options :
A.Cé& Donly
A C&D
1. %
A, B& Donly
T AB&D
2. %

3.¢



A B &T C {}1115'

T AAB&C
A & D only
T A& D
4, %
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With the help of the Grid. we can
AG H5Pcho8®, Hodo
A) Locate places and learn much about them
2.8 proeed) 8o, TP D80 B B8R

B) Know the direction of a place that we should go to reach it
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C} Know the local time of a place
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D)  Know the altitude of a place
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Options:

A, Cé& Donly
A C& Dirgsd

A B&D only
A B&D sy

A B& Conly
A B& C Fﬁ'{u)



A & D only

A & D 5rmEd
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The main aim of Kyoto Protocol Declaration, 1997 1s

1997 |TE=4T FFIET T2 IF (A FI2TH & HF 3122 Ag

Options :

To bring down the release of Green Houze Gases to leas than 5.2%
g

ZATE 4= IS 5.2% THT FHHT FH00
1.¢

Reducing unprecedented exploitation of natural resources

ARfTE HargAiT AT I HAT F
2. %
To provide better fecilities to the people working in the Primary Sector
ATATHS AATT HTH HLOTAT ATHAT AT AT a0
3. %
To provide basic requirements to the poor people to protect them from
hunger
4. %
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The main aim of Kyoto Protocol Declaration. 1997 is
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To bring down the release of Green House Gases to less than 5.2%

2
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Reducing unprecedented exploitation of natural resources
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To provide better fecilities to the people working in the Primary Sector
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To provide basic requirements to the poor people to protect them from
hunger
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Nazea and Cacos tectonic plates are located in this ocean

Options:

Arctic Ocean
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Indian Ocean
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Atlantic Ocean
AzATIH AT
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Pacific Ocean
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Nazca and Cacos tectonic plates are located in this ocean
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During Winter. cyclonic depressions coming from Mediterranean Sea called the

Western Disturbances, cause

THET ANETAT [RATGaT=a1 F@1d AT THAZBAT G (e Fgmard,
HTE

Options :



Low to moderate rainfall gver Northern India

I GTEaTd U7 T 2 959 92491

1.¢
Very heavy rainfall over North India
2.
Moderate to heavy rainfall over Deccan plateau region
TEETAT TS F290Td AEAH o HABHTE TEH T2
3. %
Very low to low rainfall gver the Eastern Ghats
, A HIETA7 AT FHI o HHT TT5HE TSl
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During Winter, eyclonic depressions coming from Mediterranean Sea called the
Weatern Disturbances, cause
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Options :

Low to moderate rainfall over Northern India
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Very heavy rainfall over North India
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Very low to low rainfall over the Eastern Ghats
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Identify the INCORRECT statement regarding the Earth among the

following

FTA AT T qad = Thi= (ST Aear
Options :

The Earth 1s the third nearest planet to the Sun

et g1 gAT=AT a1 [d87T Ig g
1. %
The Earth takes 24 hrs to complete one revolution arpund the Sun
TATATAAT TH TR 07 FLOATATST T2 (AT 24 TTH AT
2. R
The Earth slightly flattened at the poles
AT el TS 1efT /9T ATAT
3. %
The shape of the Earth is dezcribed az a Geoid
T T=AT AHEH T ST (SEes) = e S
4. %
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Identify the INCORRECT statement regarding the Earth among the

following
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Options :

The Earth 1s the third nearest planet to the Sun
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The Earth takes 24 hrs to complete one revolution around the Sun
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The Earth slightly flattened at the poles
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The shape of the Earth 1s described as a Geoid
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Among the following. the states in the Central Zone of India are

Options :
Andhra Pradesh, Madhya Pradesh and Chattisgarh
ATTALIT, TEATZIT AT FATEIE

Jharkhand. Madhya Pradesh, Chattisgarh and Uttara Khand
ATEE, HEATR, F (A0S A Iq0Es

Telangana. Madhya Pradesh. Goa and Chattisgarh
THAIHAT , HEATRIT, AT AT BATETS



Madhya Pradesh and Chattisgarh

TEAasT AT Fe e
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Among the following. the states in the Central Zone of India are
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Options :
Andhra Pradesh, Madhya Pradesh and Chattisgarh
SO DS, HEHH0E Hbc SESHE
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Jharkhand, Madhya Pradesh, Chattisgarh and Uttara Khand

Telangana. Madhya Pradesh, Goa and Chattisgarh
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Among the following, identify the correct pairs

FTATATHRT G =T AT
A Anaimudi — Annamalai Hills

B) Doddabetta — Nilagir: Hills

C) Aroma Konda - Eastern Ghats

T Fi=T - T4 HIE
D)  The Nallamala Hills — Western Ghats

-
AAHAT 2HedT - TIEH =12
ChGDSE‘ the correct answer

Options :
A.B& Conly
T A B&C

A, B & Donly

% A.B&D
2. %

B.C & D only
3 % T+ B.C& D

A C& DO]‘J].:".'

T A.C& D
4, %

Question Number : 50 Question Id : 71505314977 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Among the following. identify the correct pairs
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A Anaimuda — Annamalai Hills
sJanG ~ @508 Solken

B Doddabetta — Nilagiri Hills
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C) Aroma Konda - Eastern Ghats
8 50k —  ardyBnshen

D) The Nallamala Hills — Weatern Ghats
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Choose the correct answer
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Options :
A, Bé& Conly

A, Bé& Csrgad
1.¢

A B & Donly
A, B & DS

B.C & D only
B.C & D &rss

A, Cé& Donly
A C& Dsrgd
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In India, the Tropical Deciduous forests are found in the regions receiving
rainfall
TTATd SR E 1 TSl AT ... TTHH TSITAT 29T AShdTT

Options :

above 200 em and above

200 FHT @rfir =9 Bl EIEED
1. %
between 200 em and 70 em
_ 200 &t arfor 70 a4t =7
between 150 em and 250 em
. 150 |7 AT 250 FHT 7T
3.
Lezs than 70 em
. 70 THT TET FHT
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In India, the Tropical Deciduous forests are found in the regions receiving

rainfall

Options :
above 200 em and above
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between 200 em and 70 em
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between 150 em and 250 em
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Less than 70 em
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From among the following. identify the primary sector activity
ia [ ﬁlaﬁ; I EI -ﬁaf] Fa ﬂ \i (;‘l ':!‘_JE i Di-llii‘iiﬂl
Options :

Processing and construction industries

1. %
Automobile Production
) 'df.:l‘ﬂaléﬁ;l B IEL
2. %
Obtaining minerals from earth’s crust
- T T=AT FATAA Dietot HBa0
workers and craftsman working in factory
VI
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From among the following. identify the primary sector activity
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Options :

Processing and construction industries

ERRRon $08din AR s Soil H8ERen

1. %
Automobile Produection
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Obtaining minerals from earth’s crust
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worlers and craftsman working in factory
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One among the following 1s NOT the reason for having moderate population

density in Assam and most of the Peninsular states of India
ATATH A TS Tgah arTHed 1 T HET FEAH AHE =1 Gl T
Options :

flat plains with fertile soils

. T Jrefteg 79T fae
1.

hilly. dissected and rocky nature of the terrain

=TT e, =T arfr gs+e Ha

2. %



moderate to low rainfall

- e o FHT 75T

shallow and less fertile soils

4 % I AT HHT AE AT
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One among the following 1s NOT the reason for having moderate population

density in Assam and most of the Peninsular states of India
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flat plains with fertile soils
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1. ¢
hilly, dissected and rocky nature of the terrain
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moderate to low rainfall
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3. % - ) .
shallow and less fertile soils
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The non-ferrous metals among the following are
Options :

Manganese, Nickel, Cobalt

Copper, Lead. Tin

i, e, Fefier
2.

Manganese, Copper. Lead

sy, i, forr
3. %

Manganese, Nickel. Copper

4. %
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The non-ferrous metals among the following are
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Options :
Manganese, Nickel, Cobalt
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Copper. Lead. Tin
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Manganese. Nickel. Copper
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This variety of coffee. initially brought from Yemen is produced in our country

THTHLT ATAAT FIGHT ol (AT ATTAT FATT TATE AT AT

Options :

Caturra
\.l\-:
1. % )
Liberica
 forate
2. %
Arabica
3. ¢ '
Robusta
a2t
4, %
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This variety of coffee, mnitially brought from Yemen. 1s produced in our country
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During British rule, this “Surveyor General” had prepared the first survey
based maps of India

fafesr Troradia 41 "Hega? AT F AATS Tlad HAEA AT AR TATE bl
i

Options:

Ptolemy

Z{AHT

Sir George Everest

William Lambton

3@1%?&1?11%1?3

James Rennel
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During British rule, this “Surveyor General” had prepared the first survey

based maps of India
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One of the following 15 NOT the remedial measure of Soil Erosion

ATAHT 8T T 2OATATS! DA ATl U ITATLHT 31T ATal

Options :

Overgrazing of animals and following shifting cultivation

SATALTHAT ST = H07 AT TAATA T AT

1.4



Construction of Contour bunding

EASC IR KCIEOE )

Following mixed cropping and following crop rotation

T i =59 ety dr TR

Educating the farmers about the consequences of Soil Erosion

4% ST T ETT=AT TEOTHTA RS a7 (9778d HL0
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One of the following 1z NOT the remedial measure of Soil Erosion
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Options :
Overgrazing of animals and following shifting cultivation

- e e T Ay 2 -— 28 E: i L
oo o&m Hndo %84 a1moh P ©NNBodEo
o]
1.4

Construction of Contour bunding
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Following mixed crc}pping and following crop rotation
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Educating the farmers about the consequences of Soil Erosion
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One of the following 1s NOT the phases of Disaster Management

FTATATHT T AT ATEATIATHT 20T ATl

Options:
Disaster strike and emergency respond and relief

Shifting the affected people permanently to the hilly areas

. aATTErT AT SITLT65 AT FTAHT S ol For
2. ¥

Behabilitation and Reconstruction

3w TAEA O =T

Preparedness and Mitigation

TATL 27797 79
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One of the following 15 NOT the phases of Disaster Management
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Options :

Dizaster strike and emergency respond and relief
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Shifting the affected people permanently to the hilly areas

LL R AR € U # o ) Ty - Y I e £ a
5 HE wee Tdidorr 5ol progro 0800

3. %



Rehabilitation and Reconstruction

INTraP0 SoBA 38Boreso

o &

£

Preparedness and Mitigation

Question Number : 59 Question Id : 71505314986 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In recent years. there has been a tendency for the sugar mills to shift and
concentrate in the southern and western states especially in Maharashtra
becauze

FAATHS=AT FIB AHS I AT THFS I T=ATHeA [AE9q: Agroge Are?
BTG STATHL AT o o g1 T 2 AT g Fm

Options :

of the cooler climate

1% TR
Having easy loan facility to establish industry
FENT #TIT FLOATHTST A Fi q =T FE9

2. ®

the cane produced here has a higher sucrose content

9 JTATIET FededT SHTHES TS THTT FTed FAAd

3.
the presence of more number of cooperative societies
. AT Fed AEHHT dear= T It
4., '

Question Number : 59 Question Id : 71505314986 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

In recent years, there has been a tendency for the sugar mills to shift and

concentrate in the southern and western states especially in Maharashtra

because
5050 Toos’, Yol Soryrorer B8e HBAM D8 T HEE0D HIFTLD
=
50 @) 800883 Gokteds Ne 5°0mo
Options :

of the cooler chimate

B e nleso oo

Having easy loan facility to establish industry

oy @ e

o vy g = - S B FRE Smuls
HBEHeN PhHottels e oflod &°R FPEY;0

the cane produced here has a higher sucrose content

r: Jy "_ S g e = L
558 68,8 Tl BOHE” HE S T80 BN Gotto

3.¢

the presence of more number of cooperative societies
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= cle] 20D 50 Ooire” Soliso
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Question Number : 60 Question Id : 71505314987 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the INCORRECT statement among the following regarding the
selsmic waves

THUT=AT AL ATdd FTATAAH Thi= [F= T AbET

Options :

Selamic waves release only a less amount of energy in a short time

THIT=AT @41 AT ABTd FHT TATT HAl drard
1.¢



‘P* Waves move very fast

‘P =T g A AT

2. %
The waves that move somewhat slower are called ‘Secondary Waves’
FTR 91T Ha AT (HTOT=AT AT ‘T2H Agdl Fgorard

3. %
‘L’ waves cause an extensive damage as they move along the earth’s
surface
‘L AT A=A TEARIET STaT HI5AT THT AT Fard

4. %
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Correct Marks : 0.5 Wrong Marks : 0

Identify the INCORRECT statement among the following regarding the
selsmic waves

L e

b0 Slormred Sonobod, ob POE° S8 FCEIETEJOEJM foBodol

Options :

Selsmic waves release only a less amount of energy in a short time

3Bos dBorren 8533 Hihdhod® #5585 80 dr@a Ahde Taron
1.4
‘P* Waves move very fast
‘P &0orren orer dilore Sthen@on
2. %
The waves that move somewhat slower are called ‘Secondary Waves
EP08 J5,0rr £68 dBorrei ‘B:800 dtorren’ @otr’
3. %



'L’ waves cause an extensive damage as they move along the earth’s
surface

§T v e - A i - . o T T e - ol - oo x_—\ e
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Question Number : 61 Question Id : 71505314988 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the items given under A with the items given under B

F T F 2 JT=AT A (=AT BAT
A B
A)  Barometer 1. an instrument used to measure the
EA density/specific gravity of liquids
FAIRTATT AaT/Ta ey TEardy T JISrA !
= | q;lrﬁa HTE A
B}  Anemometer 1. an Instrument used to measure the amount of
i water vapour in the air
G WTVIT=AT ATH ST HITTATATS AT
HTEA
C)  Hygrometer 1l aninstrument used to measure atmospheric
ARPIRIES pressure
ATATALITET 2T H IS TS AT 18
D) Hydrometer Iv. an Instrument used to record the wind speed
Choose the correct answer

Options :

A-1 B-iv, C-11, D-1n
1. %

A-m, B-1v, C-1, D-n
2. %

A-1n, B-iv, C-111, D-1



A-m, B-iv, C-11, D
4.

Question Number : 61 Question Id : 71505314988 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the items given under A with the items given under B
‘A’ Sol§ 35 woTed ‘B 8ol 50 wowus® a@ddtod
A B

A)  Barometer 1 an mstrument used to measure the

density /specific gravity of liquids
P8 8hiab Bare Foss B DY o Fedmeds
&5GPRoD 9850
B)  Anemometer 11 an Instrument used to measure the amount of

water vapour in the air

203 Dotrb S 8 6B H85rerd) Poders a5arA0D
28580
C)  Hygrometer 11  aninstrument used to measure atmospheric
pressure
P E66 a0 D) Foseis 65arR0T H8580
D)  Hydrometer v an Instrument used to record the wind speed
PE neb ™9 ) 8578 BAITAS 5GP $8550

(Chooze the correct answer

H'\'-H\:'

'333 SeaT PP w oS ol

Options :

A-1, B-1v, C-11, D-11
1. %

A-mi, B-iv, C-1, D-11
2. %

A-1, B-1iv, C-11, D
3. %
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A-m. B-iv, C-11, D1

Question Number : 62 Question Id : 71505314989 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following is an important volcano in "the Pacific ring of fire'of the
Pacific Ocean
TTTEF AEETET=AT T T3 A WA @il U6 Hgoa = sararai

Options :

Mount Etna

1. %
Mount Visuvious
EARIEGRER

2. % i
Mount kilmanjaro
- b e
ImeAH sl M4q

3. %

Mount Fujivama

L EAERIEIRET]

Question Number : 62 Question Id : 71505314989 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s an important voleano in ‘the Pacific ring of fire’of the

Pacific Ocean

(]|
3,

B 0 R rh BB E ottt oh a s B B BE R R
Sob apid adedalS oelrla o ﬁ‘"\bﬁ'&wf‘.—'{-’ﬂﬁ oledg)S OON &g g
.
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Options :



Mount Etna
JeTTy 3= E0

1. Q (=% D
Mount Visuvious

o LT Wl Y
Sradesdng el -’mf‘_';'[.'

Mount kilmanjaro

o oB s o
5080 w05B0

Mount Fujivama

DEairar 2d8o
4. &+

Question Number : 63 Question Id : 71505314990 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One among the following is NOT the major Iron-ore Belts in India
ATt T ST T Are-ate v AT
Options :
Odisha-Jharkhand Belt

ATSI-ATTEE 72T

1. %

Koderma-Gaya-HazaribaghBelt

FETHT-THT-EATLIGTT TE]
2. J 3 ot
Durg-Bastar-chandrapur Belt
F-aEI-A397 TET

3. %

Ballari-Chitradurga-Chikkamagaluru belt

L T T - A - AT = TST



Question Number : 63 Question Id : 71505314990 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One among the following 15 NOT the major Iron-ore Belts in India
050 ofod @rodo B0R8

=

g e
b EJC:'?«.-OFF =t

Eobarddd
Options :
Odizsha-Jharkhand Belt
2.8 -ertok Bd
1. % & £)
Koderma-Gaya-HazaribaghBelt
S5 R0e,-105m - srerberh BS
2.9
Durg-Bastar-chandrapur Belt
b -a:db- Joitiurt 2
3.% 77 ;
Ballar1-Chitradurga-Chikkamagaluru belt
2B -UBEHE 08 Hiltrd B
4. %

Question Number : 64 Question Id : 71505314991 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



Identify the true statements regarding the Geographical area of India

qTAT=4T ST AaTefT FareT a7 [=Fa Aaar

A)  The total land area of India accounts for about 12.4 percent of total
gepgraphical area of the world

ATLATS T AT & ST=A1 UFT A1 447 12.4 2F 395 Ag

B)  India has a land boundary about 15,200 kms

qTEarar 15,200 fhaTHiz= 1 STHT #1471 918

C)  The total length of the coast line of the mainland, including Andaman

and Nicobar and Lakshadweep. 13 7516 kms

ST AT RTaTT AT ARSI TR W AT STy wr it
?515%311%:

D)  India is the seventh largest country in the world

AT g1 ST (e HATqaT A1d HIST 297 Ag

C]].DDSE‘ thE‘ COorrect answer
Options :
A B& Conly
% A, B& C

B.C & D only
5 @ T B.C&D
A, B& Donly
%h AB&D

A B.C&D

Question Number : 64 Question Id : 71505314991 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the true statements regarding the Geographical area of India
PEBG0 Gins) F°R°83 @ros°08 HowoBod K85 D806 & HoBod
A)  The total land area of India accounts for about 12.4 percent of total
gepgraphical area of the world
oo dndo Hreplioft PE80% trerlio Py 12.4 a0 Sob
B)  India has a land boundary about 15,200 kms
PE80Z0 rrey 15,200 8. oo eS80 $0At0D
C)  The total length of the coast line of the mainland, including Andaman
and Nicobar and Lﬂ.kSh-ﬂ.d‘WE‘Ep. 18 7516 kms

WolarR, U8%rE Hodh e5bn 5 56 o drgrifo g, & 5354, o
D)  India s the seventh largest country in the world

ChGDSE the correct answer

@é 4:1_!:'“@TJ Y -.*J‘ aotn5 ol

Options :
AB& C Glll}*
A, B & Csrgah

B.C& D {mhf

B.C & D sims
2. ¥

A.B & D only

A, B & D s
3. %

A B C&D
4, %

Question Number : 65 Question Id : 71505314992 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The two important wheat growing zones in India are

ATLATA A 29 HgwaTH Tg [IHame 9297 ... T Ao

Options :

The Plains of North and North Eastern India and Hoogly Region

L AT ST ATLATA T HETH AT GAT AT

1. %
The Krishna and Godavari Delta Regions and the Ganga-Sutlez Plam
1n the northwest
FHTIT SATTOT T Seal TS9T AT ATTADS A IT-AdTAH HI A

2. %
The Plains of North and North Eastern India and the Krishna and
Godavari Delta Regions
FTL AT LT ATATATA HZT AT FET A7 TraTa4l ST qael

3. %

The Ganga-Sutlez Plain in the northwest and black so1l region of the

Deccan
El'l'q??tﬁ?'r?m-ﬂ_dﬁ?f ﬁ;{ o (ﬁﬂ_ﬁ}r aeddoq [ filod] ;:n—(ﬁa-rﬁET

4.+

Question Number : 65 Question Id : 71505314992 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The two important wheat growing zones in India are
ePlEnS ol Atthshen Hofod Both S0P olelaatsy
Options :

The Plains of North and North Eastern India and Hoogly Region
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The Krishna and Godavari Delta Regions and the Ganga-Sutlez Plain

in the northwest

- o

-\.1 .H . . L o L ".. v O e r g
Syer $o0akn Aordd Tep prodren B0 aron;od R Horr-388 gitrdo
i

g

The Plains of North and North Eastern India and the Krishna and the

Godavari Delta Regions

.

688 B0 Sl FEE0E08" ) Drraren BN Byap HBAMm FPrss Qe 25

The Ganga-Sutlez Plain in the northwest and black soil region of the
Deccan

'::6 C.'E" & fore —w"f'j-_\, -::_H.-Cr‘:'\ﬁﬁ ¢35
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Question Number : 66 Question Id : 71505314993 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Direction of the trade winds 1=

Options :
West to East
x TEH A

East to West

CERIEEE
2.¢ ©
North to South
I A SR
3. %

4, %



South to North

I 7 397

Question Number : 66 Question Id : 71505314993 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Direction of the trade winds 1s

G T LT (Tl o T oI e pac B
ol raP0) mmearen £ B :*JJO& & Hdn oo O00

Options:
West to East

G A Al
S50t ol '3_1:':'.’1;:&_.

1. %

East to Weat

Brd) hobs St
2. ¥

North to South

e8d0 ol H8emAE
3. % -

South to North

HEeesin fnols &ETRIS
4, ® ' -

Question Number : 67 Question Id : 71505314994 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Tithe and Taille’ are

'TYTHTST AT 2 T,

Options :
1. %



'The taxes imposed by the Moghul emperors on agricultural produce

The taxes levied by the Mouryans for grazing of animals and for

collecting firewood from the forests
g

ATHTTA FATITE FY,

Taxes lavied by the Krupps family on agricultural and industrial

produce

3 I UESIE” [ i il i 3!3'[' et I ICE fﬂlqc:i':fil T

Tax levied by the church in France on agricultural produce from the

peasants and the tax levied by the French Government respectively

TR AHETS F= STAFATHe daeedl T JCTEA a7 ATaeal H7 A7 e

4.+
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Tithe and Taille’ are

= y -_— L. =
‘G0 B doneg’ @3s)

Options :

The taxes imposed by the Moghul emperors on agricultural produce

HHTrah 68 @eD fuand JBE5Hen DHoDD Binen
1. %



The taxes levied by the Mouryans for grazing of animals and for
c::;llecting firewood from the forests
230N se molhE Pl b edPe ol E8en 2EbodNothihiTa

3 Spen DHODN Hnen

[=_N

Taxes lavied by the Krupps family on agricultural and industrial

produce

=, e 2 TR i . o} i | i s
SRaoD 68 den s0BAI arBERinE 68 ez i) Hrévono JHoDD Dinen

3. %
Tax levied by the church in France on agricultural produce from the
2 g P
peasants and the tax levied by the French Government respectively
- o # F # 1 = . 0 s =
.;ﬂc?‘;;:!ﬁ“f Oiwe ol a‘ﬂgim a0 Gt \%” ) ©8) dfod K::-?5;:; shBdio @od |§3€J(JJLO
BN B
4.

Question Number : 68 Question Id : 71505314995 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The bhakthi songs of Nayanars in Tamil Language were called

Options:
NalayiraPrabhandam

Thevaram

D}alq
2. ¢ b

Tiruvasakam

3.#“"



Pashuralu

RE{RAL

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 68 Question Id : 71505314995 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The bhakthi songs of Nayanars in Tamil Language were called
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. ey o 3

YO R |- W S V- AU D (P S L. - SN . S G
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Options:

Nalayira Prabhandam

Thevaram

2 L
—
U0

Tiruvasakam

Oy, g ol
85050

Pashuralu

_JJ

FHTren

2

4. %

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 69 Question Id : 71505314996 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the INCORRECT statement regarding the Magadha

Mahajanapadha among the following

FTA AT AT HETATIRTETad= b= (=79 Aal




Options :

Magadha Mahajanapadha was situated to the North of the river

Ganges
HIE HETSaS T A2=A1 308 THAA gid
1.¢
Bimbisara and his son Ajatasatru were the early kings of Magadha
fTa@TT AT AT HATT A=A1aq9e g AT+ HEATd 1+ 20 gl
2. ®

During the time of Mahapadmananda, the Magadha kingdom was
extended from Northwestern part of India to Odisha

HETTEHE=AT HIB T AH TTATAT 17 =41 ar9e7 AT

3 % SATTAT EraT
The Magadha kings used their armies to conquer other kingdoms
. T TTS1A T AT=AT 4197 9797 307 7759 (S FTETaT Fell

Question Number : 69 Question Id : 71505314996 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the INCORRECT statement regarding the Magadha

Mahajanapadha among the following

Eof EE S i edsmrds Honobod) $8520 Hd oS MHbodold
g:. —

Options :

Magadha Mahajanapadha was situated to the North of the river
Ganges

0058 s0sfasdatio Nomr 68 ¢80e ¢ob
1. ¢



Bimbisara and his son Ajatasatru were the early Llngu of Magadha

Sodlrthtd Hbcn a8l L3RG werdd | S0 arEar 23080 ;o &9
OPeren
During the time of Mahapadmananda, the Magadha kingdom was
extended from Northwestern part of India to Odisha
B0sPaN R0 thd Sre0s? St F&J“esuc PEE0E oS ardins geiio ook
2630 305 A56odaloh
3. %
The Magadha kings used their armies to conquer other kingdoms
2018 Treren B85 TPl ssonod GPAS &5 Rar 60GIPA0TRS
4. %

Question Number : 70 Question Id : 71505314997 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Uttaramerur Inscription described about the

ITCHEL T9ATed g5 ... g2« 999 & g

Options :
Mauryan Administration

1. % S AATE

Achievements of the King Chandragupta Vikramaditya

Chola Village Assemblies
RIERIEKEEES

Efforts made by the Iing to protect the belongings of foreign traders

TS FATITAT=AT ATART TA FITITATST TS T Aol TAH
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Uttaramerur Inseription described about the

&85 HErE ko B 980D DHB0H

Options :
Mauryan Administration

P [+ L at ;"7 A
-+ I ¥ R o2 =
o Gore mBames

Achievements of the King Chandragupta Vikramaditya

PR ST I T . S I S,
SO0 aSartér Trer aesdimen
LIM0ad oJi3 L

2. %
Chola Village Assemblies
E-hgdf_.- I:'F\‘:TEJ FJL;.,'O_F_,
3.v
Efforts made by the lning to protect the belongings of foreign traders
D68 rErthe Hhded §808mls e BhSEHAhERen
4. %

Question Number : 71 Question Id : 71505314998 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the true pair among the following
Options :
Vishakadatta— Harshacharithra

[ERIEE B R IR

1. %

2. ¢



Hiuen Tsang - Si-yu-ki

U T - AT

Banabatta — Gathasapthashati

FAAEl- TTATHHA
3. %

Hala — Mudrarakshasa

E-_ - iiﬂlal:-f[i
4, %
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Identify the true pair among the following

- L SN R 1 Y.
Eob rfd” HON adE bodol

Options :

Vishakadatta — Harshacharithra
DTPHE - POUOE
1. % h
Hiuven Tsang - Si-yu-ka
SPEc e oh - 2 S-Gin-8
E —p
2. ¥
Banabatta - Gathasapthashati
ePEaEty S OSESE T
3. % = -
Hala —  Mudrarakshasa
Fentd —  AETrEHG
4. %

Question Number : 72 Question Id : 71505314999 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The city ‘Kalibangan’ located at Hanumangarh district. Rajasthan was

dizcovered by

TEATT=AT gATE fSeg[Ta BT "Heia g 0g2..... q+1 Qe e

Options :
R.D. Benerjee

1% AT ET, sl

N.G. Majundar

2. % e

A. Ghosh

=

3 ¢ THTT

El

Y.D. Sharma
4 % AT 1. el
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The city ‘Kalibangan’ located at Hanumangarh district. Rajasthan was
discovered by

S E e ot i st R e ok s sk ook
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Options :
R.D. Benerjee
R.D. Eé@

N.G. Majundar

2. Hieroldd

2

o



A. Ghosh

3.V

Y.D. Sharma

T
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Question Number : 73 Question Id : 71505315000 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following was NOT used by USA during Vietnam war
EETaaTH AST27FITT AT b AT A THl THAT 197 HeAT qogd]

Options:
Naplam, a deadly bomb which caused damage to humans
FOH, TF ATOTHTA v ST JIAGTA THAT el

1. %

Agent Orange which destroyed plants and trees and made the land

barren for a long time

Phosporous Bombs

RIS 91
3, u SRR

Little Boy. an automic bomb

, ., T ata, u st ate

Question Number : 73 Question Id : 71505315000 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following was NOT used by USA during Vietnam war
Deheryo Y $500Dos” USA &ifobd 88’ 2.8 R aSErNoSBS

Options :
Naplam, a deadly bomb which caused damage to humans

v, Ao oy ARt | i
oaJR faades 5 écﬂO SDA0TS ?Gmcﬁ E"\I:fc-.l_; EPOED

Agent Orange which destroyed plants and trees and made the land

barren for a long time
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Little Boy. an automic bomb

= et
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Question Number : 74 Question Id : 71505315001 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Seizing of power from the Provineial Government by the Soviets under
Bolshevik leadership was known as
AT TAF=aT Aqcarardl Alfeguae Iid1d FLRFhegd a7 ged T B0 F2os ...
il
Options:
February Revolution, 1917

1917 =t et wieft

1. %
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October Revolution, 1917

1917 ¥ sitwEraw wid

Russian Revolution, 1905

1905 =T ZferrT #idT

3. %

The Russian Socialist Revolution, 1922

4% TI9ET gHTIETAT HiT, 1922

Question Number : 74 Question Id : 71505315001 Question Type : MCQ Option Shuffling : Yes
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Seizing of power from the Provincial Government by the Soviets under
Bolshevik leadership was known as
£'895 PEHEE;06° PAchey Froscdh PHEo Dol BETTR) F:B%0 THER

Ty i Oy B D
Pole) RO LIVl ey

Options :
February Revolution, 1917
Db DaHo,1917

1. %
October Revolution, 1917
98’6 DKo, 1917

2.¢
Russian Revolution, 1905
Sih fado, 1905

3. % '

The Russian Socialist Revolution, 1922
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Question Number : 75 Question Id : 71505315002 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One among the following was NOT the reason for the Second World War

A eIl U AL A= B0 Tegd

Options:
Failure of the League of Nations in preventing Germany. Japan and
Italy from violating international agreements
STHAT, STATT A FEA AT AALLTGIE LA Joeaed HLOATIHA L@
T SATE T AT

1. %
German Challenges to Vengeful domination
AET=AT THEATATS] THA ATz
2. ®
Attack of Pearl harbor of USA by Japan. an ally of Germany
STHATET T AHAAT TATAA TUATSAT TA d2197 ged] |
3.¢

Invasion of Poland by Germany for refusing to handover the port of

Danzig to Germany

SRR F57 AT AT T fEeATaEd A T FAd ArwEr
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One among the following was NOT the reason for the Second World War
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Failure of the League of Nations in preventing Germany. Japan and
Italy from viclating international agreements
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Attack of Pearl harbor of USA by Japan, an ally of Germany
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Invasion of Poland by Germany for refusing to handover the port of
Danzig to Germany
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Identify the INCORRECT pair from the following
Options :

Sambhitas — the mixture of manthras, prayver and meditation

HIEAT - Fo, TTAT AT BT A e

1. ®
Brahmanas-explained the karma or rituals
ATET - FH THar FHFHE P72 el

2. ®



Aranyakas- contain magical powers

AOTH- AT AT5% 9Thl AFATT

Upanishads- explained soma sacrifice

A STHTE- TIH I 79 &l
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Identify the INCORRECT pair from the following
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Options:

Samhitas — the mixture of manthras, prayer and meditation
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Brahmanas-explained the karma or rituals
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Upanishads- explained soma sacrifice
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An international village named as ‘Auroville’ was established in Pondicherry
with the backing of the United Nations to
FH TIG=AT TT68AT e 1 49 "FI=e Tar= AqIgE T #4794 HIF1T
el T
Options :
Spread the message of peace and Global cooperation

., STTAAT AT SRS Hg DA =T a9 THIGTTATS
1.

Spread the message of Unity in Diversity

IEIEE GERE SRR G EECRE I I

Provide all the facilities to the people of that village at free of cost

T STATA A AT AT T4 A€ AR 20T
3. %
spread the message that all the people living in the world are one and
the same
4w ST T2 6 @18 T ATed g1 Ha9] TaLaraTast
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An international village named as ‘Aurgville was established in Pondicherry
with the backing of the United Nations to
08072350808 aa@,&? FolDBE ‘wB IS 8l bendet f_iloﬁ’ézl?vfé-o‘?'::- rsno

i?imiﬂmﬁocﬁ. 82 Beed ﬁ@%o

Options:
Spread the message of peace and Global cooperation
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Spread the message of Unity in Diversity
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Provide all the facilities to the people of that village at free of cost
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3. %
spread the message that all the people living in the world are one and
the same
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The ‘three principles of action of Sun-Yet- Sen’ were Nationalism, Democracy
and Socialism. Here, the Principle ‘Nationalism® means

AT qaT=T A L AAT BT

Options:

To declare China as a Republican Government

=TT Rafeasa @ehe 2o Jiiua w200

1. %
Controlling the industries and bringing land reforms to distribute land
to the landless
Fe AT ferear St T AT SR aTe FrvArEs S
HATTUT ATOTo7

2. %

Establishing a democratic Government with president as the head of the

gtate

2 TS FHE T TP ] AHAA ATl ALHTE I F9]



Overthrowing the Manchu Dynasty which was seen as a foreign
dynasty as well as other western imperialists

HI TITEIT0 JALA 260 SATAT G901 149 THF a7 TrTeT ATar=aarar

T TR ST g
4. &
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The ‘three principles of action of Sun-Yet- Sen’ were Nationalism. Democracy
and Socialism. Here, the Principle ‘Nationalism' means
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Options :

To declare China as a Republican Government
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Controlling the industries and bringing land reforms to distribute land

to the landless

Establishing a democratic Government with prezident as the head of the
state
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Overthrowing the Manchu Dynasty which was seen as a foreign

dynasty as well as other western imperialists

Question Number : 79 Question Id : 71505315006 Question Type : MCQ Option Shuffling : Yes
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One of the following was NOT the cause for the failure of the revolt of 1857
FTATATHT UF 1857 =T ISTAT=AT ATTATH HILT Fogd

Options :

The revolt was limited to certain areas of North India only

T 9% 397 AaTd e wiel AFTILdT Aaiiad ghd

1. ®
The British recruited soldiers more from among the Britain and
Afghanistan
TerfesTi=T Tees AT ARATToredT W ATET TR AT Hed |
2.

West Rajasthan, Madhya Bharath and Bengal did not take part in this

revolt

TSI TISTEAT, Hed 19 AT S9A- A7 Is1aTa T a1 Aref

Southern India’s participation in the revolt was almost nil

. =TT T AIEATAT HSATT STASTTH S I
4. C
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One of the following was NOT the cause for the failure of the revolt of 1857

1857 &thibertn Sper8 Bod 8E° sbmo N6

Options:
The revolt was limited to certain areas of North India only
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1. ®
The British recruited soldiers more from among the Britain and
Afghanistan
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West Rajasthan, Madhya Bharath and Bengal did not take part in this
revolt
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outhern India’s participation in the revolt was almoest nil
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In Bengal ‘Tebhaga Movement’ was led by

ANTARES AT ABABIA Adcd BT Hel?

Options :

Communist Party of Bengal

ST B T8

1.

Rashtra Kisan Sabha of Bengal

5 A= T 1Y T JbT



Indian National Congress

All India Mushm League

L At =T gieam =T
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In Bengal ‘Tebhaga Movement’ was led by

Options :

Communist Party of Bengal
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Rashtra Kisan Sabha of Bengal

Indian National Congress
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All India Mushm League

oy AT T - | & E
@gje gD w0 EIR

Question Number : 81 Question Id : 71505315008 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Arrange the following districts of Telangana in descending order as per their

land area

A)  Rangareddy

g
B)  Badradri Kothagudem
C)  Nagar Kurnool
D)  Nalgonda
Choose the correct Answer
AT I st

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to
all candidates.

Options :
1 A BC.D

D.C,B A
2.

B,D.C.A
3.

" B,A,C.D
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Arrange the following districts of Telangana i descending order as per their
land area

3 oo BTy A y B e e AP ; o Bt Wk i
Boorrnd o & Sob Eerod ol dreriio psedo w6 i Eiod” el b

A Rangareddy
-ﬁc:-ﬁ‘@f;
B. Badradri Kothagudem
oEPd ST
G, Nagar Kurnool
6 St
D. Nalgonda
?66’: ol
Choose the correct Answer

K08 Derraed) doi%o
Note: For this question, discrepancy is found in

question/answer. Full Marks is being awarded to
all candidates.

Options :
: ABCD

D.CBA
2.

B, D,C, A
3.

B.ACD
4.
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In most of the Spanish ruled countries in Latin America, all the powers were

vested 1n the hands of

A2 FAHTHA A aga® w497 ATTET F9HET, 79 ATIHIE ... =41 Z1aTd 2l

Options :
Supreme Council located in Madrid

v EEIERIERCE N FLU LD

The landlords who hold large tracts of lands

SHIAETE SAT=AT%s JIodT THTT SHAT Agd

High officials and nobles appointed in that particular country

=1 fafarg 2ema fag=n 39 AT arfo 2

The Spanish landlords and farmers

4 % Tiferer THTAETE AT STaEr
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In most of the Spanish ruled countries in Latin America. all the powers were
vested in the hands of
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Options:

Supreme Council located in Madrid
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The landlords who hold large tracts of lands
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High officials and nobles appointed in that particular country
- o r - 0 - =5 oh
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3. %
The Spanish landlords and farmers
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In this book. Montesquieu proposed a division of powers within the government
between the legislative, the executive and the judiciary

TSI FE0 A= T519 .. AT EA "iE

Options :
In the Spirit of the Laws

FEF-E 1:\_'_ u;'_::'_ .
1.9

My thoughts

2. ®

Letters Familiere

3. %

Letters PETS0IIES

4. %
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In this book, Montesquieu proposed a division of powers within the government
between the legislative, the executive and the judiciary
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Options :

The Spirit of the Laws

1.¢
My thoughts
% Sy

2. %
Letters Familiere
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3. W rd (%
Letters persones
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For a unitary Italian Republic, the secret society called ‘Young Italy’ was

formed by

Options :
Giuseppe Garibaldi

1 % “_"I'ﬁ_ca-flia,a[ffgl

Giuseppe Mazzini

| ST



Count Cavour

L x T gt
Victor Emmanuel I
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For a unitary Italian Republic, the secret society called ‘Young Italy” was

formed by
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Options :
Giuseppe Garibalda
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Gluseppe Mazzini
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Count Cavour
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- e
@%"D DL J::F'“ 11

Question Number : 85 Question Id : 71505315012 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Annamacharya dedicated his life for composing and singing the glories of



Options :

Lord Venkateshwara of Tirupathi

1@ IR IG R E Tk
Lord Mallikarjuna of Srisailam
AT AT oA

2. ®
Lord Rama of Badrachalam
qATTAHT G TTH

3. %

Sr1 Lakshmi Narasimha Swami. Yadagirigutta

Question Number : 85 Question Id : 71505315012 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Annamacharya dedicated his life for composing and singing the glories of
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Options:
Lord Venkateshwara of Tirupathi
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1. ¢
Lord Mallikarjuna of Srisailam
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2. ® B
Lord Rama of Badrachalam
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Sri Lakshmi Narasimha Swami, Yadagirigutta
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Identify the INCORRECT statement among the following regarding

Mahatma Gandh
HETCHT T aTaq Fraferdhl T+ [T Aar
Options :

In 1919, Mahatma Gandhi gave a call for Satyagraha against the

Bowlatt Act

1919 T= HETeHT AT T2 HEAAT=AT (A2 1=8Td AcAIgr=1 gih Taefl
1. %
Mahatma Gandhi asked the Indian people to observe 6% April, 1919 as
a day of Humiliation and prayer
HETHT TTETAT A AT 6 TTae 1919 27 f=a| 991 Arfor a1+
2%'*'“1:\ VBTATH HIH
Mahatma Gandhi expressed the pain and anger of the country by
renouncing his knighthood
HETHT AT AT ATZ2gs =T ST Fed 29747 daAT AT Ja1T 24h
HAT
3.¥
Mahatma Gandhi adopted Charka as a symbol of Swadeshi in the last
phase of Indian National Movement
HETCHT T (AT AT TTHET TBAB =T Sd2=aT Z0ATq Faa91F T 1% g
g xR FH BT FeT
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Identify the INCORRECT statement among the following regarding

Mahatma Gandhi

oifErrons Honofod) Sob TR BOed S Do Bodol

P
Options :
In 1919, Mahatma Gandhi gave a call for Satyagraha against the

Rowlatt Act

e

19198° shaffarrrod Ted SEpds & B0B0rT HEeyiBNS Hend Do
1. %

Mahatma Gandhi asked the Indian people to observe 6 April, 1919 as

a day of Humiliation and prayer
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Mahatma Gandhi expressed the pain and anger of the country by
renouncing his knighthood
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3.¢

Mahatma Gandhi adopted Charka as a symbol of Swadeshi in the last

phnse of Indian National Movement
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Chahamanas. later known as the Chauhans. ruled over the region around

el



Options :
Delhi and Ajmer

1. ¢

Kanouj and Prayaga

e 1o ATFOT T
2. %
Utkala and Kalinga
3 % SORe AT HIET

Benaras and Magadha

FATEE AT JTE
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Chahamanas, later known as the Chauhans, ruled over the region around
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Delhi and Ajmer
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Kanouj and Prayaga
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Utkala and Kalinga
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Benaras and Magadha
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This era began with the ascension of emperor Kanishka

Options :

Saka era

e
1 o T

The Vikram Samvat era

Gregorian Calendar
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'fl (] '?.:‘l '-.E_, 7

Mahasalkkarat Era
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This era began with the ascension of emperor Kanishka
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Options :
Saka era
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The Vikram Samvat era
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Gregorian Calendar
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Mahasakkarat Era
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One among the following was NOT the impact of ‘The Economic Depression-

GTATATH THTa? T gHIAIHF [S99H- 1929-39" =T T9TF T=gar

Options :
The factories were closed as the demand was low

The prices increased as the goods were manufactured in a limited

quantity

HTA HATTad FHIITT T2 G THe (AT ATeedT

There was no impact of the Economic Depression-1929 on United States
of America as it was a well developed country

FATALE F2H AT ARCHT a2 ATTAF H1-1929 T FIATE! FHE TSAT ATl

T AT U [T 397 grar
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The real incomes of the ordinary people as well as the Governments

across the world declined
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One among the following was NOT the impact of ‘The Economic Depression-
1929-39
808 B wbEirodo 1929-39 Herko 28

Options :

The factories were closed as the demand was low

Garob #5nST Gotidod” .:,_l':__*éﬁf_:: S0P E TR o0
1. Q L

The prices increased as the goods were manufactured in a limited

quantity

SBSE BBTes0s” 3:0aYe) BO5 HEchdo e Hdenzdriron
2. %

There was no impact of the Economic Depression-1929 on United States

of America as it was a well developed country

CHFBE 85 ©F 0B errr ©DHY TobS B¥o THKo He eBLroo-

1929 Hepso ol Bth
3. ¢ )

The real incomes of the ordinary people as well as the Governments

across the world declined
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The Nizam's Government used to collect tax in the name of ‘Bambram and

Dupapett1’ on Adivasis for

TSI H2oTe AT g FaH A7 TATAST AT AT F7 T8 H2d A4

Options :
Collecting forest products and for undertaking Agriculture

Grazing cattle and collecting firewood for cooking

2.

Cultivating coffee and tea plantation in the forest area and grazing of

animals

3. %

Cultivating coffee and tea plantations and collecting firewood in the

forest area for cooking

4%21?@?
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The Nizam's Government used to collect tax i the name of ‘Bambram and
Dupapett1’ on Adivasis for
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Collecting forest products and for undertaking Agriculture

eid) &8 e 2E8osdo Hbam & B2rcho B ma,re.:uum Hend

Grazing cattle and cgllectinq firewood for cooking

DDV MHHto 0bAm $H0HE Ko B HEBoddo Bed
2.
Cultivating coffee and tea plantation in the forest area and grazing of
animals
wéd) @rosod® b 5o & &ue odso HBED BoBHed DKo Sed
3. %
Cultivating coffee and tea plantations and collecting firewood in the
forest area for cooking
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e
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One of the following 1s NOT the function of Commercial Bank

GTA AT UF ATAHTF g+ 4 ATl

Options :
Accepts Deposits from the public

1 % CATHIDZA ST F ST

Gives loans and advances to different sections of the public like traders.

Industrmalhists. farmers ete.

Sd=aT =Fie =RnAT &t 2o a0y o, 9 AT IS, SaF0 2



Issuance of debit and Credit Cards to the public

acts as the banker, agent and adviser to the Government of India

v T GEFHT dF7, TS AT oA TE T2 HTH B0
4.
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One of the following iz NOT the function of Commercial Bank
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Options:
Accepts Deposits from the public
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Gives loans and advances to different sections of the public like traders,
Industralists, farmers ete.
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Issuance of debit and Credit Cards to the public
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acts as the banker, agent and advizser to the Government of India
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Among the following. this calls for public ownership rather than private

control of property and natural Resources

GrATATHT ... 2 HTAHAT AT AFRTF FATEAEY T HFaomoast arastas

Options :
Capitalism
1. % i,
Anarchism
2. %
Soecialiam
3. &
Monarchy
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Among the following, this calls for public ownership rather than private
control of property and natural Resources
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Soecialism
3.

Monarchy
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One of the following 18 NOT the way to promote Secularism in India
FTA AT T AEardid SR AT TATE FLFTAT 79 ATa0
Options :

The state using the strategy of distancing itself away from religion

HTITE 52 TrEvAT Tt ATty 7T

1.
The state using the strategy of non-interference with the religious
practices
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2. ®
The state celebrating the religious festivals of one particular religion
01113'
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Ensuring that laws relating equal inheritance rights are respected
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One of the following 1s NOT the way to promote Secularism in India
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Options :

The state using the strategy of distancing itself away from rehgion
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The state using the strategy of non-interference with the religious
practices
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The state celebrating the religious festivals of one particular religion
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Ensuring that laws relating equal mnheritance rights are respected
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Among the following. the term Industrial Revolution was used by these

European Scholars

AT i BT 9Tex @rererasnl AT A9 TEgTi=T araTer grar

Options :
Friedrich Engles and Abraham Darby
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2. ¢



Georges Michelet and Friedrich Engels
B E R i e

Abraham Darby and James Watt

, AT STET arfor s =
3.

Abraham Darby and Georges Michelet
4. %
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Among the following. the term Industrial Revolution was used by these
European Scholars
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Options :
Friedrich Engles and Abraham Darby
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Georges Michelet and Friedrich Engels
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Abraham Darby and James Watt
= b |
ooty HBdhn B ard
3. % =
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The two major 1deological and political camps emerged in the post-world war

period were

HEGTHaT=AT FIB1d 219 THE d=T14F A0 TS0 (977 ¢ I2ATH At |

Options :
The Nazi bloc and the democratic-capitalistic bloc

AT Tz Ao AT - AiE T AdTar T2

1. %

The Fascist bloe and the communist bloc

HIEEE T AT B e
2. %

The communist bloc and the democratic-capitalistic bloc

ATEETRT TZ AT A TSR -ATS A= T2
3.v

the Democratic bloe and the communistic bloe
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The two major ideological and political camps emerged in the post-world war

period were
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The Nazi bloc and the democratic-capitalistic bloc
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The Fascist bloe and the communist bloe
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The communist bloc and the democratic-capitalistic bloc
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One among the following was NOT annexed by Lord Dalhousie with the policy

of Doctrine of Lapse

FTATALH T s SARIH I SIFEIT AT A H=AT SITOTHET AATAY Foded ATel

Options :

Satara and Nagpur

1 % ST AT YT

Sambalpur and Jhansi

. AT AT AT
2. |

Udaipur and Nagpur
. FEATT AT AL

Mysore and Delhi

4.+ '
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One among the following was NOT annexed by Lord Dalhousie with the policy
of Doctrine of Lapse
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Options:
Satara and Nagpur

3 Sy e B E
TP au0dD aRhaRh

Sambalpur and Jhansi

) L 2 do
Hozerb $H8an Gr:

2. %
Udaipur and Nagpur
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One of the following was NOT the significant feature of the Government of

India Act, 1935

GTATATET U T G817 FFaT, 1935 F AT 19T T=gd

Options :

Provision of Autonomy to the provinces

; AT ST d4ds
1. <



Creation of a federation

HErEaT=T HiEdr

Establishment of a federal court

. TF=Td BIEET 19T
Expansion of the central and provincial legislatures
4. &
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One of the following was NOT the significant feature of the Government of
India Act, 1935
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Provision of Autonomy to the provinces
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1. %
Creation of a federation
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2. &
Estabhishment of a federal court
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Expansion of the central and provineial legislatures
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Swami Dayananda Saraswthi's main aim in establishing Arya C}amu] was

Options :
To propagate the Upanishads

To unite India religiously socially and Nationally

2. ¢

To enhance education among the Indians

T AT T9TEoT=T 9977 F200
3. %

To emerge as a great saint
o % P HEH T T IEATH 00

Question Number : 98 Question Id : 71505315025 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Swami Da}rananda Saraswthi's main aim in establishing Arya Samaj was
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To propagate the Upanishads
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To unite India religiously socially and Nationally
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To enhance education among the Indians
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One among the following was NOT the principal follower of Jainism
Options :
Udayana, Harvanka ruler

: Qﬁw,aﬁ?i-ﬁrsnmﬁ

Kharavela, Kalinga ruler

, GIITAAT, Hfed T STTHF

Amoghavarsh, Rashtrakuta ruler

3 % AHTTAT, TPHE ATEF

Ashoka, the Mouryan ruler

AT, AIH oTHF
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One among the following was NOT the principal follower of Jainism
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Udayana, Harvanka ruler

SEGITS, sPTrose srekhiid

1. %
Kharavela, Kalinga ruler
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Amoghavarsh, Rashtraluta ruler
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Ashgka, the Mourvan ruler
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Identify the wrong pair among the following regarding the temples of Jains

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to
all candidates.

Options:

Dilwara Temple - Mount Abu

1.

Parshvanadha Temple — Khajuraho at Bundhelkhand

AT Hi37 - dgeEs i FeEel
2.



Jinanathapurabasadi Temple- Sravanabelagola

Seth Hathisingh's Temple - Ahmedabad

A 5 g JIGT - AZHARETR
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Identify the wrong pair among the following regarding the temples of Jains
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Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to
all candidates.

Options :

Dilwara Temple - Mount Abu

Ber-or sedho - SToSwar
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1.
Parshvanadha Temple — Khajuraho at Bundhelkhand
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2.
Jinanathapurabasadi Temple- Sravanabelagola
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3.

Seth Hathisingh's Temple — Ahmedabad
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Harshavardhana organized religious assembly known as Maha Moksha

parishad at
THaEAY HETHI TH9E TgUH deaedT ST AT SHaqr ard ... T
ET
Options :
Prayaga

Saranath

HTEATH

Nalanda

qATAaT

Thaneshwar

FTOTT
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Harshavardhana organized religious assembly known as Maha Moksha

parishad at
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Saranath
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Nalanda
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To prepare the Indian Constitution. one among the following was derived from
the Japanese Constitution
Options :
Federal Structure with powerful central Government

1. %

Residual Powers of the parliament

_ HHEH AGTITY ATTHT

Right to Life and Liberty

ST TET AT S=Ta=A =T ATSF
3.

Advisory powers of the Supreme Court

TATg ATATAAT Hed T ATHHT
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To prepare the Indian Constitution, One among the following was derived from

the Japanese Constitution
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Federal Structure with pq:rwerfu] central Government
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Residual Powers of the parliament
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Adwvisory powers of the Supreme Court
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Identify the true statement regarding the Directive Principles of State Policy

T FET=AT (Fa9® aeaaad = 7c7 (a7 Araar

Options :
The Directive Principles are not justifiable. Courts cannot compel the

Government to implement them

HER9T% dvd AT qATgid. ATATAS HIHTAT AT AAAGA TG0 FHLIATH AR
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The Directive principles are not the guiding prineciples for future

Governments

| T T A ST ST A g A
The Directive Principles do not explain the aims and the goals of the
Government
HTRaei® avd TLmA( 3128 AT I15Y 792 F3d Alelid

3. %
Whoever be mn the Government, the Directive principles shall be
implemented
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Identify the true statement regarding the ‘Directive Principles of State Policy’
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Options :
The Directive Principles are not justifiable. Courts cannot compel the
Government to implement them
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The Directive principles are not the guiding principles for future

Governments
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The Directive Principles do not explain the aims and the goals of the

Government
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Whoever be in the Government, the Directive principles shall be
implemented
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One of the following is the characteristic feature of developing economies

Options :
The working population predominantly depend upon agriculture and

mostly live in rural areas in these countries

FTH FEOML ATFHESAT ATHEAT S 197 AT e AT AT 9071l agaisr
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Higher Per Capita Gross National Income 1= observed in these countries

AT FATHE IF FIS15 A% YT Ioad T3 I

People use the modern techniques and skills in day - to-day hife
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Gross Capital Formation will be more in these countries
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One of the following 1s the characteristic feature of developing economies
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Options :

The working population predominantly depend upon agriculture and

mostly live in rural areas in these countries
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Higher Per Capita Gross National Income 1s observed in these countries
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People use the modern techniques and skills in day - to-day life
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Gross Capital Formation will be more in these countries
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In India, the Union territories having Assembly Seats are

ATEATT T H=AT ST AT g9 TS5 ., T #ed

Options :
Lakshadweep, Jammu & Kashmir and Ladakh
FAGT, FHL AT F19HT AT(07 A=T7
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Jammu & Kazmir, Ladakh and Delhi

Jammu & Kashmir, Delhi and Puducherrs
3.¢
Delhi and Puducherry only
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In India. the Union territories having Assembly Seats are
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Options :
Lakshadweep, Jammu & Kashmir and Ladakh
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Jammu & Kasmir, Ladakh and Delhi
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Jammu & Kashmir. Delhi and Puducherry
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Delhi and Puducherry only
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Identify the specialised agency of the United Nations Organisation among the

following

ATATAUAT TATACE AT ATTAAAATAT G901 TS| ABET

Options :
Economic and Social Counecil

1. %

The trusteeship Council

Tereaes afvas
2. %

Food and Agricultural Organisation

3 @ S AT T qedT

The International Court of Justice
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Identify the specialised agency of the United Nations Organisation among the
following
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Economiec and Social Couneal
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Food and Agricultural Organisation
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The Internatigonal Court of Justice
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To Counter North Atlantic Treaty Organisation, the communist nations signed

the

AT FzATTEF 24T AR ( NATO) fBzig F7m T ..., FLHEZ T

Options:
Central Treaty Organisation

1. % IS AL HAS

South East Asian Treaty Organisation
ZFET 97 ArfSETE FEw AT

2. %

Warsaw pact

Anti-Comintern Pact
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To Counter North Atlantic Treaty Orgamsation, the communist nations signed

the
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Options :

Central Treaty Organisation

South East Asian Treaty Organisation
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Warsaw pact
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Anti-Comintern Pact
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Even now. China 1s claiming that these two regions of India belong to them

AATRl =1 &A1 F7q Al Bl AEATAA g 21 Ta9T A Agd

Options :
Sikkim and much of Arunachala Pradesh
T =t A== W s=T AT 9

1.
Sikkim and Aksai Chin area in Ladakh
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Sikkim and Northern parts of Uttarakhand state

T artor S=rEs T I AT

Aksail-chin area i Ladakh and much of Arunachala Pradesh
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Even now. China 1s claiming that these two reglons of India belong to them
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Sikkim and Aksai Chin area in Ladakh
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Sikkim and Northern partu of Uttarakhand state
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Aksai-chin area in Ladakh and much of Arunachala Pradesh
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In 1968, Saddam Husain came to power with the twin slogans of

AT F il AT 1968 Wl AZ ga H0d? ATl




Options :

Nationalisation of Property and Socialism

Arab Natignaliam and Socialism

Arab nationalism and establishing religious orthodoxy

Socialism and Democracy

L FHTTATE AT ARSI
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In 1968, Saddam Husain came to power with the twin slogans of
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Options :

Nationalisation of Prn}perty and Socialism
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1. %
Arab Nationalism and Socialism
®ls eradhardo B Jrdardo
2.

Arab nationalism and establishing religious orthodoxy
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Socialism and Democracy
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This mternational institution has laid down certain stringent conditions called
‘Structural Adjustment Programme’. forcng India to accept a policy of
Liberalisation

AT AL FEI TAa7e Ueseaie ST ATaT=47 FIET 517 A1 TTae4T Ae,
ST AATAT SETHTITH S0 FH AT 1 Ted S

Options :

International Monetary Fund

1.4

World Bank

2. %

Asian development Bank

- ArteraTe AEa d%
World Trade Organisation
4w SATAE PATIR AT

Question Number : 110 Question Id : 71505315037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This international mstitution has laid down certain stringent conditions called

‘Structural Adjustment Programme’. forcng India to accept a policy of

Liberalization
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Options :

International Monetary Fund
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World Bank
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Asian development Bank
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World Trade Organisation
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The 739 Amendment to the Indian Constitution was passed to establish

Local-gelf Government at the village level during the Prime Ministership of

AT TTsTg2ad 73 AT GaaTgaed| GHIT EF21ET TAT =T o= W+
....... ATAT GAXITTIL=AT FIBTT HAT FLATH AT

Options:
Rajiv Gandhi
% TTsire T



VishvanathPrathap Singh

EECIRR GIERTE]

P.V. Narasimha Rao
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Atal Bihari Vajpaye
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The 73'¢ Amendment to the Indian Constitution was passed to establish
Local-self Government at the village level during the Prime Ministership of
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Rajiv Gandhi
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VishvanathPrathap Singh
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P.V. Narasimha Rao
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In June 1978, the West Bengal Government Launched Operation Barga to

S 1978 W, TIEH A1 FOHA ........ AT ATEIH F7T H= Fd

Options :

Record the names of the farmers

1. %

Record the names of the sharecroppers

2.

Record the names of the degree holders to provide employment

. TS SO TETAT Tad T A1 F1g90

3
To protect the farmer's rights over the land
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In June 1978, the West Bengal Government Launched Operation Barga to
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Options :

Record the names of the farmers
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Record the names of the sharecroppers
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Record the names of the degree holders to provide employment
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To protect the farmer’s rights over the land
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In India, the telecom Revolution was initiated by
Options :

Dr. Manmohan Singh

, SiEsHE T

P.V. Narasimha Rao

Rajiv Gandhi

TS T

Narendra Modi
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In India, the Telecom Revolution was initiated by
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Options :
Dr. Manmohan Singh
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P.V. Narasimha Rao
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Rajiv Gandhi
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Narendra Modi
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In Assom, this was also a major spoken language besides Assamese
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Options :
English

1, % 2T

Manipuri

T

2. %

Bengali
3. \:;2 a_;r[?’ﬁ‘

Hindx
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In Assom. this was also a major spoken language besides Assamese
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Options:
English
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This amendment of the Indian Constitution provided maximum protection
from judicial challenges to social and economic transformation legislation and
making the judiciary subservient to parliament

AT FAITA=AT AT ZHEA 1 AT AT A T HIAATETE AT
AR TATTTEA ST SR HOA T2 Fed A0 A THATET HH=T AL T

Options :

44™ gmendment of the Indian Constitution

AT TTsTae=1 144 & goedt

1. %

2. ¢



4278 gmendment of the Indian Constitution

AT ST 42 = FHedT

527 Amendment of the Indian Constitution

. AT (o HAeTarei 52 ot gEEdt
3.

612t amendment of the Indian Constitution
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This amendment of the Indian Constitution provided maximum protection
from judicial challenges to social and economic transformation legislation and
making the judiciary subservient to parliament
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Options :
44% amendment of the Indian Constitution
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4274 amendment of the Indian Constitution
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5274 Amendment of the Indian Constitution
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61°% amendment of the Indian Constitution
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Among the following, the true statements regarding the functions of the
Security Council. the organ of the UNOQ, are

GTATATHT 7T T FAEad =1 77 [Ham 2 UNO = &9 g
! & &
A It strives to settle the international disputes peaceably
PHtEs § \
B) It takes preventive steps and enforces action to maintain international
peace and security
ATTGA ST A7 TEAT TAAER § TAageds Tae 399 Ao

ol o -
FIATEAT AHATATINT F74
C) It resolves the dispute between the two political parties of the Nation

% TTET=AT S T TATHEA 912 Aread

D)  Itelects the Judges of the International Court of Justice along with the

General Assembly

T FAATET HHEE AATG AATAI =T AT =1 (43 F7d

C]IODSE‘ the correct answer

Options:
A, B& lel:v
FH A B&C
1. %
B. C & D only
%% B.C& D

A.B& Donly

A B&D
3.¢



AB.C&D
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Among the following, the true statements regarding the functions of the

Security Council, the organ of the UNO, are

808 8. UNO a8 Hees oy fiie okds Ahedh HSowofod Jegdd
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A) It strives to settle the international disputes peaceably
20 f”Oﬁ‘G&Du 3D Dartrenn FrofdingorT E.’;’Ewai;@oi‘b baothd é;}&éaﬁjo-ﬂ

B) It takes preventive steps and enforces action to maintain international
peace and security
@o@c:@cﬁ: P08 HOED FHEED DFrtothd 55 IPls Shen Shbotwod
%8050 S5 when Diod

C) It resolves the dispute between the two political parties of the Nation
56 2.8 BEodD Both Tredich & r% i &) darwed) D0y bihob

D) It elects the Judges of the International Court of Justice along with the
General Assembly
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Choose the correct answer

M ek
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Options :
AB& C :}1115'
A B& Cirgad

B.C & D only
B, C & D srga

3.¢
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A, B& Donly
A, B & D 5migad

AB.C&D
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This fundamental right gives a citizen the right to approach the High Court or
the Supreme Court to get any of the fundamental rights restored in case of

their viglation

&1 QAT ATEHRTT TNTIAHTAT AT=AT JeATT=AT dTdc1d AT ATHTAET B!

Options :
Right to Freedom

HTA=ATAT ATTFT

Right to Equality

2. %
Right Against Exploitation
ST %3 28

3. % -
Right to Constitutional Remedies
TEATHT STTITAT ATIHT

4. ¢
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This fundamental right gives a citizen the right to approach the High Court or
the Supreme Court to get any of the fundamental rights restored n case of
their viplation
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Options :
Right to Freedom

b

| % A5 ey
Right to Equality
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Right Against Exploitation
3 % $¥50 D8°003 & ":L
Right to Constitutional Remedies
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The word terrorism 18 derived from the French word * Terroriame’ which

mMeals

SEUadTs 21 91%3 e 9157 Terrorisme TTHA AT AT ATT 74 g

Options :
A mental action which creates fear and danger

1.

Criminal acts intended to provoke a state of terror in the general public
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A State of fear created in General public

3 % HAATHTHTHES Hid = Frara<or HHr s

A criminal action that creates fear in general public

4. %
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The word terrorism 1s derived from the French word ‘Terrorisme’ which means
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Options:
A mental action which creates fear and danger
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Criminal acts intended to provoke a state of terror in the general public
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A State of fear created in General public
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A criminal action that creates fear in general pubhe
B el R s
wod” FAP Hy503 GRS $T;

4, %

Question Number : 119 Question Id : 71505315046 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



The Government of India appointed Justice J.5. Varma committee to

Options :
give suggestions for the improvement of Indian Economy

ngﬁmﬁmww

provide recommendations for the provision of justice for the poor people

of the society

provide suggestions to prevent sexual assault and abuse

3.

provide suggestions to reduce the marriage age from 18 years to 16

vears

AT 99 18 9% 16 99 HevgTaiad
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The Government of India appointed Justice J.S. Varma committee to

P88 Hehso 2B J.8. $5; $06 82 8% cahdoDod

Options:
give suggestions for the improvement of Indian Economy
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provide recommendations for the provision of justice for the poor people

of the =society
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provide suggeations to prevent sexual assault and abuse
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provide suggestions to reduce the marriage age from 18 years to 16
vears
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Identify the fundamental duty of a citizen among the following

Options :
To strive towards excellence in all spheres

v T AATT SHIAATB TAd L0l

To safeguard and enhance private property

TS ATAHT T AT007 78 207
2. %

to cherish and follow the noble 1deals which are incorporated in the

preamble of the Indian Constitution

3 s AT TS qTAT HTH



to educate all the children in the age group of 6 to 18 years

6 T 18 T FAFFTTA T A HATAT (97T FHe 0l
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Identify the fundamental duty of a citizen amonge the followin
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Options:
To strive towards excellence in all spheres
P
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To safeguard and enhance private property
a6 sad 8ot HBdm HBid BBSE0
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2. %
to cherish and follow the noble 1deals which are incorporated in the
preamble of the Indian Constitution
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to educate all the children in the age group of 6 to 18 years
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If both the parhiament and State Legislative assembly make a law on a subject

and these laws clash or contradict each other, then

TEEYT A (e TR AT FEd e T

Options :

The law made by State Legislative Assembly takes precedence

T TSaTTa 9T FdedT HFATAT AT ool S

The law made by the Parliament and State Legislative Assembly take

precedence
5 w TR A A TAEHAT FaAAr FrATr AT T a
The law made by the parliament takes precedence over the law made by
the State Legislative Assembly
AT ATaAAT FIAATAT 7757 (A AT HITSTTAT TTETT (G
3.¢ WLl
The laws made by the Parliament and the State Legislative Assemblies
will become null and void and the matter will be referred to the
President
A AT ITAT=AT [T eled 1 T2arded sedid A9 g TFH0
TETAIS TT59d AT
4. %
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If both the parliament and State Legislative assembly make a law on a subject
and these laws clash or contradict each other, then
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The law made va State Legislative Assembly takes precedence
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The law made by the Parliament and State Legislative Assembly take
precedence
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The law made by the parliament takes precedence over the law made by
the State Legislative Assembly
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3.v
The laws made by the Parliament and the State Legislative Assemblies
will become null and void and the matter will be referred to the
President
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Identify the provision of the Right of Children to Free and Compulsory
Education Act. 2009

ST 12T 2009 THTY ATAFH=AT HIHT AT HH=TT SEHAT dids ABdT

Options:

All children should be enrolled in a class appropriate to their mental

level

A JATH AT AT qTAB A7 T AT A1 A9 ST Iligs



The name of the child shall be removed or repeat the name in the same

class 1n ease of failure

2. ® FATAT

Board examination shall be conducted at the end of class V

. TTHE AT SEAT AISI=T THAT Jadi Sed
No child shall be subjected to physical punishment or mental
harassment
FITATRT HATAT THEITF a5 (haT AT HF (9T =6l 13 94
4.
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Identify the provision of the Right of Children to Free and Compulsory

Education Act, 2009
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Options:
All children should be enrolled in a class appropriate to their mental
level
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The name of the child shall be removed or repeat the name in the same
class mn case of failure
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Board examination shall be conducted at the end of class V
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No child shall be subjected to physical punishment or mental

harassment
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Identify the Intermediary Goods among the following
T [Adsl HgT4% ATH4UT (intermediary Goods) Ar@@T
Options :

Cement, Bricks and Steel to be used in construction work

" ATIFTH HTETT FH =, Her arfr e 9o

Detergent Soap used for washing clothes at home

L EREE EI"FW%W ATILAT AT (222 AT

Coal used for cooking purpose

. FTGHT FATITRTATST ATTLAT ST
3.

The food that has been cogked at a restaurant
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Identify the Intermediary Goods among the following
Eof et sridn ezt ool
Options :

Cement, Bricks and Steel to be used in construetion work
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1.¢
Detergent Soap used for washing clothes at home
B0t aben BE5TOE &H@PA0D Béagots Heny
2. % i
Coal used for cooking purpose
S0t Do 5o &Harhod &0
3. % ;
The food that has been cooked at a restaurant
CarCot &° Hold 8:Fdo
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Raw materials and money in hand are called

Options :

Physical Capital
o ATTS qreae

Working capital
gobd gisad
2.

Human Capital

AT =99
3. %

MCQ Option Shuffling : Yes



Social Capital
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Raw materials and money in hand are called
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Options :

Physical Capital

T Tl
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Working capital
QTEaPes aénob

2.9 -
Human Capital
SRR BNt Bénal
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Social Capital
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Identify the ‘indirect Tax’ from the following
FTA AT DT 'AAAA F7' ABHET
Options:

Corporate Tax

1. %



Tax on Interest incurred from savings

.
Taxes imposed on property and capital assets of individuals and
companies
FIhHT AT ST AT=AT HIAHTT AT Tt qTAawa? draee 7
3. %
Customs duty
HHTI
4.v 3
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Identify the ‘indirect Tax’ from the following
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Options :
Corporate Tax
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1. %
Tax on Interest incurred from savings
Pt Dob $7) S63 DBoD By
2. ®
Taxes impozed on property and capital assets of individuals and
companies
2:5en 8CI Sode 8f HB6IH sredd shen JBoDH D
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Customs duty
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the items given under A with the items given under B regarding size

and Growth rate of population in India

qTEATA I A HEEAAT AHTE A AR =T 57 ATEEH1T A AT SoedT aral § Faid

faeteT aegeft St
Item A

A) The First Phase 5
qigaT ZoaT

B) The Second Phaze 1.

AT EHT

D) The Fourth Phase iv.

ST =T
ChCIDSE‘ thB correct answer

T 37 Ha=T

Options :

A-1v, B-1. C-11, D-mn
1.4

A-11, B-1, C-n, D-av

2, %

A-1n, B-1, C-iv, D-in
3, %

A-iv, B-i, C-in, D=1
4. %

Question Number : 126 Question Id

C) The Third Phase 1.

Item B
The period of Moderate Growth rate of

population

The period of Population Explosion

The period of high population growth

with definite signs of slowing down

HaruAr=TT f[Afera @goag 39 Arsae
AT =T FTATTHT

The Period with Stagnant population

TR AT FTATET

: 71505315053 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
Match the items given under A with the items given under B regarding size
and Growth rate of population in India
FESOT0S smrer HhSTmo S8 & &, E‘uf;:é Roobod) A Soll 30 wodred
B 808 ad% oo’ eghdtold

Item A Item B

A)  The First Phase 1 The period of Moderate Growth rate of

population
SnHEOE 5:(‘5_:53 s reT SN Se 04

B)  The Second Phase 11 The period of Population Explosion
Dotiatd 2P R0 oo
C)  The Third Phase  1m  The period of high population growth with
definite signs of slowing down
Snlatalal Hotihod Hoseres ©b8 s WHNEeTe0
D)  The Fourth Phase iv  The Period with Stagnant population
ToBtsd esigR )0 0 Bem Trer BT &y 68
Choose the correct answer

R08 Darrrardy othE ok

Options :
A-1v, B-1, C-11, D-mn

1.¢

A-m, B-1, C-11. D-1v
2. %

A-n, B-1. C-1v, D-m1
3. %

A-1v, B-1, C-111, D-n
4, ®
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Ravi purchased a TV from the shop for 759000. The GST for TVs 1s 18%. The

amount of tax did Ravi Pay as tax to the Government was

74T THTIA 59000 AT UF Eiogt @Al Fal. iegrarer 18% GST #rs. &+

Options:

T 10620
1. %

T 18000
%

T 4500
3. %

T 9000

Question Number : 127 Question Id : 71505315054 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ravi purchased a TV from the shop for ¥59000. The GST for TVs 1s 18%. The
amount of tax did Ravi Pay as tax to the Government was
59 a5 Hof 7.59000 & 2.5 809 FA’en Ba2t0. TV 0 GST 18%. 52 edhHs

Ry GST &rd0d” Behar: A8 BOoddamy,

Options :

_ ¥ 10620

T 18000
2. %

T 4500

4 ¥ 9000



Question Number : 128 Question Id : 71505315055 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Finance Commission has recommended to increase states share in the net

proceeds of Union Tax Revenue from 32% to 42%

AT T4 AT F319 T AZHATA A (Hede JeTATHEd 1A= (a1 32% 954
42% THT ATEAATHT TSTRTEA Hedl Ae

Options:
Fifteenth Finance Commission

15 a7 &m=mT

Fourteenth Finance Commission

14 &= @raeT
2.

Thirteenth Finance Commission
, 13 5= @mgT

Twelfth Finance Commaission

12 fa7 amanmT
4, %

Question Number : 128 Question Id : 71505315055 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Finance Commaission has recommended to increase states share 1n the net

proceeds of Union Tax Revenue from 32% to 42%
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Options :
Fifteenth

Finance Commission
BePES ;,5?

I'.I""\

Ho%no



Fourteenth Finance Commaission

B

.

. . AT I

oTFPERN B80S f)0g00
_
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N
S
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Thirteenth Finance Commaission

- hg‘ré 0anO

Twelfth Finance Commission

D0 wbs Hogpo
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Methodology

Section Id: 715053555
Section Number : 4
Section type: Online
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Number of Questions : 32
Number of Questions to be attempted : 32
Section Marks : 16
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Sub-Section Id : 715053712
Question Shuffling Allowed : Yes

Question Number : 129 Question Id : 71505315056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statements are TRUE related to specific qualities of a
Social Science Teacher

AT AT FHIOTAT FersrTe AreTstere o= fafing qonst Fafa e

A)  EKnowledge of current affairs

B)  Good communicator of ideas

Fed =T AT FT5F
C) EKnowledge about other subjects

797 AT 7
D)  Enowledge about the Social Science subject

AT =9 gT= T
C]lGDSE‘ th& cOrrect answer.

AT 3T (=T
Options :
L A B.C&D

A B &- C 01113:
T AB&C

B. C & D only
% B.C& D

A, C& Donly

4.JW¢%.C&D

Question Number : 129 Question Id : 71505315056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statements are TRUE related to specific qualities of a
Social Science Teacher?
Posnk ﬂ:‘:é ETRL Ao ;;’352;_5" oo Donobod) £ Sob a5 Dot NOR o) aa?
A)  Enowledge of current affairs
2Bm peFrret Somofodld Q”gc\_l
B)  Good communicator of 1deas
a8 S5e SET $ES8050
C)  EKnowledge about other subjects
=hte ‘"‘“r‘j JHchsned Honobods w;:‘éo
D)  Knowledge about the Social Science subject
Potnd vat‘é: ey DAdho HBoD tg?éo

ChGDSE‘ the correct answer:

U 2. =
cC"j:é- -FJCIJFQD&FD? sons Tahol:

Options :

. x ABC &D
AB&C only
A, B& Csrgah

B. C &.‘ D {}111}_'
B.C & Dirgs

A, C& Donly

A, Cé& D&rgd
4.«
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Display Question Number : Yes
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To teach the topics — ‘Forests and Cultivation of Cotton Crops in our State’
respectively, these maps are suitable

ATTAT TTSATATA ST AT FITA (AR ATES 2 F2 [STHa AT ... AT
AAHH AT AT

Options :
Physical Maps, Distribution Maps

v SUREEIE M ERER G E I

Distribution Maps. Climatic Maps
Taa=or J791, FATHTT FH190

Climatic Maps. Political Maps

, o EET T, T

Physical Maps. Politieal Maps

ENGECEIE MR EEAR I EAE]]
4, %
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To teach the topics — ‘Forests and Cultivation of Cotton Crops in our State’
respectively, these maps are suitable

0% 50 & 7 eo¥sen, 58 Hode Jrhid =8 &° fRohed o g Heren HHIP

Options :
Physieal }v'[npa. Distribution Maps
T8 Séren, 2l Héren

1.¢

Distribution Maps. Climatic Maps



Climatic Maps. Political Maps

i~ r iy

§ buia gy v ; B s o o

T olnled fPen, TreaSdll obPen
BB Q

Physical Maps. Political Maps

- Oy o : _‘-' o -
o588 Héren, or:dAD Héren

4. %

Question Number : 131 Question Id : 71505315058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following statements are TRUE related to Source Method?

AT 0] BIOTAT T T T 1907 Hatea aga?
A)  Source Method was mntroduced first time in Australia

LN
I

E AT TIHT BT T5d {5 BT At
B) Source Method 1s also called Laboratory Method

T T AT FASET TG0 AR Fgorard
C)  Source Method can be adopted for teaching both Geography and History
T¥T1e4 SATTO ATl (Ao T=aT ALATIATHIST BT T <] A d HeAT AT 9Tl
ARFAL

D) Source Method can be adopted for teaching History only

AT T AT AT 9% A [STHTTATETS FaAT T3, ST |
Choose the correct answer:

AT 397 Ha=T
Options:
A, B& Donly
1 % " AB&D

A&C only
T A& C

B & C Dlllj.'

T B& C
3.¢



ABC&D

Question Number : 131 Question Id : 71505315058 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 0.5 Wrong Marks : 0

Which of the following statements are TRUE related to source method?

2.

e D88 Sonohod), & Sob arh; Snedt $600 087

=

) Source Method was introduced first time in Australia

o R e gh v froia
D dmc? LSS BOrS” padadatod
=

&

B)  Source Method is also called Laboratory Method

2

# o =) & Lo N . '
Sthe HE& PAPiae D08 O EPCe €otrs

C)  Source Method can be adopted for teaching both Geography and History

2F

5o 2 émm mhY o $HBAW S8 & F55% DATPRoSHD
D)  Source Method can be adopted for teaching History {mly
HH&e ”Cﬁwm 2%e0 8 & B8% o cﬁm DNEPAN Yoo

Choose the correct answer:

Ef@ e TKI-:' \J‘ o -{(jﬂ ols:

Options :
A, Bé& Donly
- A, B & D sirgah
A& Conly
, x A& Cirgd

B & C Glll:v
B & C siresahs
3.¢

ABC&D
4, %
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Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
‘Analysis and discussion of teaching skills’ come under this phase of Micro

Teaching

HEH ALATTATAT AT SOATT ALATIA BT T[0T AT =71 e A1

Options:
Transfer phase

. FEATTLT 29T
1. '

Knowledge acquisition phase

AT AITEATAT 29T
2. v

Skill acquisition phase

HI9Ted H9T2T 24T
3. %

Review / feed back phase

4. % SRERIERRIEEIEEE
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Correct Marks : 0.5 Wrong Marks : 0

‘Analysis and discussion of teaching skills' come under this phase of Micro

Teaching

e I W D N gom B ohoy W Bt AL

-.',;JC'\'J" 53@83"{16_, g:'gc_kb'u {TJT",:.'A.,{-‘__J {,‘SG u:\.uJugJ_; a G&E o & 0% Bodds ETJE]?{J_U.
Options :

Transfer phase

.

1. %

Knowledge acquisition phase

£ ke D afuh Al o
20 follerm0n O
[ &=

2. ¢



Skill acquisition phase

o _ o -y ’l
Sadea; waelPOR 88
- =

3. %
Review / feed back phase
a3ids HénE 8

4. % '

Question Number : 133 Question Id : 71505315060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Total No. of working days, time available during the year, No. of topics
included in the syllabus, Teaching — Learning Material (TLM) available for
teaching of prescribed syllabus ete.. are the things to be taken care by the

Social Seience teacher for this planning

ALATI - [T Ao HFAT=AT AATIETS T F2a47 ardt (TLM) Temar=
............ AT [HATSTATATST ATHTS STTT=AT (ST Fiasi [ 90 Aa99H AL

Options :

Year plan

ELHEERERIER]
1.¢

Unit plan

CEE DT
2. ®

Year plan and Lesson plan

3. %

Unit plan and Lesson plan

; qZF HF A G 979 HA=T
4.



Question Number : 133 Question Id : 71505315060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Total No. of working days. time available during the year. No. of topics
included in the syllabus, Teaching — Learning Material (TLM) available for
teaching of prescribed syllabus etc., are the things to be taken care by the

Social Science teacher for this planning

VAN S . S IR NV St ASRRY. = oh . B : L=y
2.8 JodéBod® efod oo, 50 Baren, dead & Ho 308 (toples) s5HBAD
ol
Py 8 R T - g% e
0.--?'{:":-“0?:3&"%{\6 ) -.,.,r\, o a':JnJ::G g‘Of‘ gPEDen h""_- & L'Dm G2 rﬁ":l _h"'\c-.l.,. (TLI‘HI] Dol ®odredd
Tl

1.¢ =

Unit plan

=

- o o -
GilTm el el |o2ET o I

Year plan and Lesson plan

F%J

BE pherDs 5800 F8; HiLo

Unit plan and Lesson plan

¥,

N S 7 =T . T ST,
O™ e el ;:_:u P Y5 00D u:_-EGTI C-J\}_-;:lé':::'
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Question Number : 134 Question Id : 71505315061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Organisation of field visit to near by traffic Island to class IX students by a
Social Science teacher comes under this type of utilisation of community
resources

AT AT AT AF=AT AEET AT AT =1 a9, ... Had 0



Options :

Bringing community to the school

AHETATAT STTasd AT

1.
Taking school to the community
§TTET FHTATA B3 AT

2. ¥
It 1s an order from higher authorities
BT 39 ATIFTATAT =97 AL

3. %
It 1= a desire of students

. 2l ===t T=ar Ag
4.

Question Number : 134 Question Id : 71505315061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Organisation of field visit to near by traffic Island to class IX students by a

Social Science teacher comes under this type of utilisation of community

respurces
£y g - - F ot T = ¢ s Fat o L £ o ot
2.5 &roans a°y GalPTP0nD mgb@% EPD5 EPEDS 95 SUNE drrged g Dol
dadépky & 85D Saire: S38w AAArHo Solis Hiod
Options :

Bringing community to the school

el EeIDe arddre s SnbEth STl
1. %

Taking school to the community

spdared Simeo n’gé: SHED P56
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It 1s an order from higher authorities

o]

=T sod0

) S I
) efoethe otns

rey
[ )

It 1s a desire of students

Question Number : 135 Question Id : 71505315062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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In this type of time line chart, the sequence of happenings march from present

to past can be presented.

AT THRT=AT SEHATEA FACHE] TAAM o GAFBTTAT=AT FEATS T FHH ATSAT Faql

Options :
Pictorial time line chart

==mT ZregarEa =916

Comparative time line chart

AAATCHT STHATET 1S

Progressive time line chart

T TS ETEHETET 91

Regressive time line chart

| EE"[I‘“ o QJ:[E;”E.,-H qlé
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In this type of time line chart. the sequence of happenings march from prezent
to past can be presented.

wf adt s OB ooy Wl .‘ O - *-C Lo & [ 4 FYALY e Y _é : £ i
Eene 08 Dol H¥o HS% =6AN Sostde @i & G538 ety T8 TP

Options :

Pictorial tame line chart

DSBS Todn T8
1. %
Comparative time line chart
ZPe)y OAD SPeby TR
2. %
Progressive time line chart
Ny T e =y
B NG 5Pe0y ot
3. %
Regressive time line chart
888 0% e {5 Y tu--%
4.
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Correct Marks : 0.5 Wrong Marks : 0

To read, interpret and retranslate the lines, symbols, colours and terms on

map, students require this kind of literacy.

AFTITALNA LT [=wg, 37 AT HAT ATATATATS], ATAT AT ATATATHTST ATTIT

REERCIE m ? , =T AT aper Wt ATEar ArAeTE ag

Options :
Functional literary

EF f]i'w_l[l-:l*' ]:lT-r[;xl

1. %



Financial literary

Map literacy

3 ARTIT ATEALAT
Computer literary
4, %
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To read, interpret and retranslate the lines, symbols, colours and terms on

map, students require this kind of literacy.
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Options:
Functional literacy

|u_lt;_n_.':js*'3'ﬁ€ 5 -_~,§J_ 'ﬁ

Finanecial literacy

w88 eXUTeiE
[

Map literacy

Sé BT
3.¥ )

Computer literacy
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Correct Marks : 0.5 Wrong Marks : 0

‘The Gazette on Recent Women Reservations’ and ‘Reference Books’

respectively are called these sources

FeTdTd

Eein)

Options :

Both are primary sources

it wrfi s e

1. %

Both are secondary sources

o STl T AT
2. i

Primary source, secondary source

3.¢¥

Se v source, pri v sour
Secondary source, primary source

é f"\.\, EH - :,_F
4. %
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‘The Gazette on Recent Women Reservations’ and ‘Reference Books’

respectively are called these sources

=i, i REL Vo r el T o v N ;
263 "; ‘Owi0ay wasren’ @R athn™ & 050 sTea

Options :

Both are primary sources

4 a4 5
Colir gPHehs srTren
1. %



Both are secondary sources

Colo Mes &prTren

Primary source, secondary source

- - - _ &
aRHans eedo, M aPrtio
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3.¥

Secondary source, primary source
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N es @O0, glrGds arlo

4. %
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Correct Marks : 0.5 Wrong Marks : 0
Which of the following statement is NOT TRUE related to smart phone?
TATtshl 10T fem #q1E ®iasft Fafad argr
Options :
Smart phone has an operating system which manages the gadgets

hardware and software

FATE RIAHEA U AT [HEEH Ag oA e TH g AT AT HIFZAT

ATEITIT Tl

1. %
It has the ability to. not only make and receive phone calls, text
message and volce mail, but also to access the internet
ATT 46 Bl BT, AT A9 AT 25124 T HLTTHT AT ATH HL0ATHT
AHAT ATel O% 3eidea? qa9 HLATH[ ad (o ARl g

2, ®

It has the ability to do small computer programs

- AT AT S0 THTH LT AHAT AT

4.+



The first most successful smart phone was the apple iPhone

qﬁmqaﬁqsﬂﬁmﬁ@?mmﬁ
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Which of the following statement i1s NOT TRUE related to smart phone?
#E 2B % Somohod), & Eob Ef-ﬂéf“mj 28 38208 267
Options :

Smart phone has an operating syvstem which manages the gadgets

hardware and software

1. %
It has the ability to. not only make and receive phone calls, text
message and volce mail but also to access the internet
38 50 526, 85 S en, TPowk H) D HDododiKo, fiErodEsd How
506G % P wotherénd® Sotnod

2. %
It has the ability to do small computer programs
=6 Eﬁégﬁ“ﬁf é'-f:'ﬂ{méfl;g .‘_;Lar'-:'c-.l_.‘, a0 En, ) E:TJ)D ':I .:F;;f Gotnoh.

3. %
The first most successful smart phone was the apple 1Phone
PRS0 DadhHodRD 78 9°R 8hd o §FR

4. -
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This evaluation helps to diseriminate and describe the pupils abilities and

mabilities to attain the set standard

...... & HEAHTT A9Td FOATH AT (ST 1=47 Aar Ao =i qmas
TETATATST AATAH G0 FLATH Had F9d

Options:

Norm-referenced evaluation

- ATHT-HE T =TI
Criterion - referenced evaluation
[EEEEEHELNE EEEIRE
2.9
Diagnostic evaluation
TATF AT
3. % h
Bemedial evaluation
4. % :
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This evaluation helps to discriminate and describe the pupils abilities and
1nabilities to attain the set standard

AT Se agre, peirdden (abilities and inabilities) Q000 Earerot

. B e T S o L o S g
07 Desol® ST 0Ir 88° ARboni®, difn Bdined HrONG areroilo

Options :
Norm-referenced evaluation

AEHEH S sorerosio

2. ¢



Criterion - referenced evaluation

o885 surerroslo

Diagnostic evaluation

T i e 4
578 Qodes sueR 05800

3, % .

Bemedial evaluation

208 8ed 8 sarerrodio
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Question Number : 140 Question Id : 71505315067 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“Write a letter to the editor of a newspaper explaining about the role to be
played by the newspapers at present”. This question 1s aimed at achieving this

academic standard

0 ™. ST AT ........ AT 271 T84 FA0AT=AT I A
Options :

Information skills

- HTfEdt Hrered

Conceptual understanding

EELRER:EE]
2. %

Reflection on contemporary issues and questioning

THFTATT AT AT T2 HaT
3. %

Appreciation and sensitivity

T9TAT AT Faraashaar
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“Write a letter to the editor of a newspaper explaining about the role to be

played by the newspapers at present”. This question 1s aimed at achleving this

academic standard

Options :
Informatign skills

et fu{‘-'-T EG- e

1. %
Conceptual understanding
EPEKe BAMTTD
2. %
Reflection on contemporary issues and questioning
o Eu._#\ B e e G £t L
D505°08 woTey P800S, @80t
3. %
Appreciation and sensitivity
2E0R — onBEo
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Which of the following questions are aimed at achleving the academic

standard conceptual understanding?

GTATATHT BHIOTAT AT 29T ST JI6 A= 110% AT ATH FIUATHS! g

Options :
1. %



What 1s the greatness of arts and artists? How should we honour them?

FAT AT FATHILNA HISTT HT Ag? ATAT AET HAT F1AT?

Locate the tundra region on the world map
5 % STTT=AT SHTETET 5T A9 ST
Do all the people of a religion have same perceptions? If not, explain the

reasons with examples.

A FATATA AR AT AATT AT F1? TAATH JaTgITAg HIE0 778 Fiel

3.¢

Why are the people approaching private hospitals though the
government hospitals are functioning? Write your opinion on this issue.

TH= | fgr
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Which of the following questions are aimed at achieving the academic
standard conceptual understanding?

o . L= o A
& 80b ¥ JB e BIMRD 8 I Eirerd) PHohhD & 6080850656?

':h.

Options:
What 1s the greatness of arts and artists? How should we honour them?

E€en, Sersethe ARs 80 D0 ? Fbo BT aer TEDoTa?

Locate the tundra region on the world map

(@200 H607) Lo Ero@d) Botod



Do all the people of a religion have same perceptions? If not. explain the

reasons with examples.

Why are the people approaching private hospitals though the

government hospitals are functioning? Write your opinion on this issue.
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Correct Marks : 0.5 Wrong Marks : 0
In this type of rating scale. a student’s performance or characteristic of the

behaviour 1= rated by using the terms ‘Excellent and very poor’”.

AT FHTE=AT TR A0 A fersare =T FaEoyes fHar ada afag Iopg A
e AT HAT A=A Fel A1

Options :

Qualitative scale

T S
1.4 =

Frequency scale

ariartear gt
2. %

Attitude scale
3. %

Aptitude scale
AtaaIaT goft



Question Number : 142 Question Id : 71505315069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In this type of rating scale, a student’s performance or characteristic of the

behaviour is rated by using the terms ‘Excellent and very poor’.

s ", - ._J\ oA - & W o £
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- —— L e, W
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Options :
Qualitative scale

=
1 e s 8 Wyen

Frequency scale

BERMEL
2. ®
Attitude scale
kie) ?:_:_ [
3.% E
Aptitude scale
aie: aPEnS: 260
4, %

Question Number : 143 Question Id : 71505315070 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the statement 1z NOT TRUE related to population education?

A=A fvemst dafaa Srora e @ argr

Options :
Women education 1s a powerful force in reducing discrimination against

WoImern

1. %



Literacy 1s the key to soclo — economic progress in a country

AT 2 ot AT i et o

2. %
A person aged 5 years can read and write with understanding in any
language 1s treated az literate
5 a9 FATHT ZATHT FHIMATE] ATIT THAA A3 (oA AT AT Fd, HTAT
3.¢
Population 1s dynamic
w FATHHET TIAH AT

Question Number : 143 Question Id : 71505315070 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the statement 13 NOT TRUE related to population education?

argl iy domohod) & Sob j oth o $O5eR8 L67?

J_-a

Options :
Women's education 1s a powerful force in reducing discrimination

agalnst women

herdez He 58 S0 EE e éi‘acni}é}u’“ g 2 @do8 pold 5
HrhePBinod
1.8 U=
Literacy 1s the key to soclo — economic progress In a country
2% O¥o drond @88 5118 hodhed® vt So8 hE sFi0d.
2. % = -

A person aged 5 years can read and write with understanding in any
language 1s treated as literate

_ - iy
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Population 1s dynamie
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Question Number : 144 Question Id : 71505315071 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following statements are TRUE related to traffic education?

ATATT0! I (AT qreqe (9l JafEa aea?

A)  Traffic education describes the traffic rules and regulations m a clear
and simple way

B)  Traffic education 1s required for young people rather than children and

senlor citizens.

AT qATHTS! AT Y ATIFETS! ATEqH (AT AT 9

C)  Itis the responsibility of every end user of the road to follow traffic

rules.

Choose the correct answer:

A1 I A=t
Options:
A &' & 'I}Ill},'

1 T A&k C

A & Bonly

T A& B
2. %

B&.’ CDH];’
3« T B&C

AB&C
4, %



Question Number : 144 Question Id : 71505315071 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following statements are TRUE related to traffic education?

&S e Somodod) & Sob PEDofed” S05°RG 6?

A) Traffic education describes the traffic rules and regulations in a clear
and simple way

EP25 QD Jaodberd hegdis, ﬂlczésﬁ Bae® erL5E )3y D808,

B)  Traffic education is required for young people rather than children and
Sen1or cltizens.
EPD5 O Doed, Har éot’gaé“ﬁm (senior citizen) GindesE edhdsm

C)  Itis the responsibility of every end user of the road to follow traffic

Choose the correct answer:

55 SEPRT) Jobs Sahok:

a

Options :
A& Conly
- A & C srgah
A & Bonly
A & B sr@adh

B & C Dlﬂy
B & C srgad

A B&C
4, ®

Question Number : 145 Question Id : 71505315072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statements are TRUE related to relationship between

Social Studies and Social Sciences?
ATA AT HITAT (AT AT AT A ATATF T8 FT=ATd A Saensfi
A)  Both in Social Sciences and Social Studies. the centre of focus 15 man’s

relationship to man and to his environment and how he meets his basic

needs

HTHTS S8 AT ATHIS AT AT SaHed, Faiag a2l ST
FACATST A7 ST TSt FEerAr dae Ao q1 AT AT T
T I FA]

B)  Social Sciences represent an adult centered approach while social

studies represents a child centred approach

HTHTTS ST & 918 Hiad 39 AT Fid 18 HIard a% AT A5TH
Bl AT ad I9hI F9idar

C Social sciences are ‘practice part of human affairs’ and social studies 1s
) p p

the ‘theory part of human affairs’

THETT e AT A9 AT

ChODSE‘ the correct answer:
7T 37 fHa=T
Options :

A B&C

1. %

A & B only

<t A& B
2.

A & C only

3 x F0A&C

B & C Cllll}'

4 % F0B&C

Question Number : 145 Question Id : 71505315072 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following statements are TRUE related to relationship between
Social Studies and Social Sciences?
arong E‘J::_\_:;;o H8a apsrRs 3 c?:; Hopotredh Honobot) 4 Eob o ;&:-éfs NN
e

A)  Both in Social Sciences and Social Studies, the centre of focus is man's

relationship to man and to his environment and how he meets his basie

Pimas TP, o are Sobofd HEEY )h wod SPHd, 85 &4
ey
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POE, D008 Homore B0 B w8l EREE ke Jee
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B)  Social sciences represent an adult centered approach while social studies
represents a child centred approach
B W%“EM HEPed %o-@@ﬁ &IPS ERaAG0 6535"?:_3_ arotnd @éo
BEBoBE &5 PIS @& HBrHoB.

C)  Social sciences are ‘practice part of human affairs’ and social studies is
the ‘theory part of human affairs’
PSS TP GPRE HFore edTErE s
Hafore RIRodEE grrisin

Choose the correct answer:

588 SEPErad) A0%S ddhod:

Options:

AB&C
1. %

A & B only

A & B 5rEs
2. ¢

A&C only

A&.C Ifi{:u_l:]
3. %

4, %
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Question Number : 146 Question Id : 71505315073 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following related to contributions of Social Scientists

FTATA ATATSTH A=A F a1t 0 ST Sar

Social Scientist Contribution
HATHTE ST TRTET
A) Max weber 1) Economic and social justice
B)  Karl Marx 1) Communist Choice theory
FTA HTFH T+ Has Faa
C) Amartya Sen 111 The spirit of capitalism
i"_-} Commumnist manifesto

il [
FEIIAte AlgATHI

C—hGDSE‘ the correct answer:

Options :

Ay B—a: O =1
1. %

A—3pB iy C—1
2. %

A—-1n:B—-iv:C—-1
3. ¥

A—1:B—m:C—n
4, %
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Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Match the following related to contributions of Social Scientists

arotns ae Er‘é H355e% Hooobot) & Bob orddD) sdnddod.

Social Scientist Contribution
Josnl aﬁaﬁé Rersebo

A) Max weber 1)  Economic and social justice
35y Sab 8 ol PBHS L;?'EE

B) Karl Marx 11)  Communist Choice theory
5‘?5 63:-’-‘55::, ési;:"-';?};?; Teons Bond

C) Amartya Sen iii) The spirit of capitalism
EESTely o5 & 2,865 8b seHedessd

1v) Communist manifeato

o T

e \E 2. AR
SoldPredod old®ed ol
Ll -] B

ChGDSE‘ the Ccorrect answer:

R0 SarTPEPA, sJons ddbok:
Options :

A-1mw:B—-1:C—1n

1. %
A—-n:B—-iv:C—-1
2. %
A—m:B—1w-C—-1
3.¥
A—=3:B—im:C—=1u
4. %

Question Number : 147 Question Id : 71505315074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following related to values

Aot HaTET are (@ ST S[Bar
Value Advantage
T AT
A)  Social value 1) Study of biography of Vivekananda
B)  Moral value i) Patriotism
FfF T TSR
C) Democratic value ) Mutual respect
ARl T TFHETEEA AAAAT AT
D) National value iv) Paying property tax on time
TEA qo T ATARTT H7 Jobd T2
Choose the correct answer:
A 3T THEeT:

Options :

A-mB=1C—w:D_-n
1. ¢

A—-1w:B—1:C—1u:D -1

2. ®

A—iv:B—m:C—-1:D-1n
3. %

A= Firr B—awv: 0—a1: D—3
4. %

Question Number : 147 Question Id : 71505315074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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Match the following related to values

Senneth nonobod & Bob R adnddol

Value Advantage
Aen @mesdo
A) Social value 1)  Study of biography of Vivekananda
Frotng Dend Dasehothd E0¢ B8 oS0
B) Moral value 11) Patriotism
385 end B¥e8
C) Democratic value 1)  Mutual respect
EePars; Dend 2890 oo
D) National value 1v) Paying property tax on tume
&AH Dend Seos® o) Siyd 30oihe

ChDDSE‘ t-hE‘ correct answer:
N0 Ssrrraed)) cons Tabol:
Options :

A-m;B-1;C—1wv;D-1u

1.4

A—-iwvB—1:C—u:D—m
2. ®

A—-1mw:B—m:C—1:D—1u
3. %

A—am:B—-iwv:il 2 D-i
4. %

Question Number : 148 Question Id : 71505315075 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following sentences are TRUE related to aims and objectives?

ATl HIAT AT 4T A9 ST greil FaTeT Area

A) Alms are ideals, they need a long term planning

ST ATE9T AFATT, AT AT HTATT A= ATSTRAT A

Bj Aims are specific while objectives are general

297 Aty amara 97 3 99T AT
C)  Objectives are short term purposes that may be achieved within the

specified classroom resources by the teacher

il Wl

3128 § ATTHTAN 3128 AET o [STAFIETe (122 a9 AATIATHEd A77 Fied
; ‘-ﬁ S 5 '\l El
D)  Objectives do not change with the subject where as aims change with

the subject

SEY ITATIHTT ggdd Arerd o AETE 247 aedar.

C]'.IOCISE the correct answer.

" [
19 47 IddsT

Options :

;. x ABCE&D

A & B only
wh A& B

AB& C 0111;'
% A B&C

A & Conly

whm A& C
4.
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Display Question Number : Yes
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Which of the following sentences are TRUE related to aims and objectives?
8¥diren, o Sonodod) & Sob Jﬁ?j@ﬁ'&é{‘ $8e08 087
A)  Aims are ideals, they need a long term planning
s¥iren wiiTye, D88 égs’-‘ﬁ)é erds oS58
B)  Aims are specific while objectives are general
sddres BIDHRD HBA oFen FTinedss)
C)  Objectives are short term purposes that may be achieved within the
specified classroom resources by the teacher
O5eD 15D ﬁ@n@m. B |§33:;§?:__0§ SB18 16 e T ﬁo‘?mﬂ R
JeBosatharon
D:) Objectives do not change with the subject where as aims change with
the subject
oFFer Ndird) af) drdd 5 eddiren JXAPN) of) rdHeran
Choose the correct answer:

0% Srprard) Joos Bdhob:

Options:

AB.C&D
1. %

A & B only
A & BSrgd

2. %
AB &'.' C Gl‘ll:v
A B& Cirgad
3. %
A& C only
A & C5rsah
4. -
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Correct Marks : 0.5 Wrong Marks : 0



In 2001, Bloom’s Taxonomy of instructional objectives was revised by these
persons.

AT FATHiAT 2001 HET ] H=AT HAATed® IMRBT A (6201 T Fed Bl

Options:
B.R. Krathwohl and Harrow

1. %
R.H. Dave and B.R. Krathwghl
2. ®
R.H. Dave and L. W. Anderson
AL, o AT UA S5, A=A
3. % h
L.W. Anderson and B.R. Krathwohl
4, '
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Correct Marks : 0.5 Wrong Marks : 0
In 2001, Bloom's Taxonomy of instructional objectives was revised by these
persons.
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Options :

B.R. Erathwohl and Harrow

5 = = ‘/-..-E = o :
5 @b, & F°F & B

BE.H. Dave and B.RE. Krathwohl

@6.378. 653 & 9.5, 508 FS



BE.H. Dave and L.W. Anderson
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B .o
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L.W. Anderson and B.R. KErathwohl
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Question Number : 150 Question Id : 71505315077 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following statements are TRUE related to academic standards in

Social Studies?

FTEATATT FITT T Ao e deafoeg st gataT e

A)  Academic standards are decided based on the recommendations of NPE

— 1986 and NCF - 2005

=1 fersfias AraTia et s s7adt sara. NPE-1986 =it NCF -

2005
B)  Academic standards are decided based on the recommendation of NCF —

2005 and SCF — 2011

greAforsR Wia® NCF 2005 &rf91 SCF — 2011 =47 ferams =1 swae svae

C)  All the academic standards are achieved in the classroom only

9 STeA T JIAE Hacs aaH JH grard

D)  Some academic standards are achieved through field trips and

Interviews

ChODSE the COrrect answer:

I 397 =T

Options :

AB.C&D
1. %

A&C only

T A& (C
2. %



B & D only

3 @ Twm B& D
A, C& Donly
, % A C&D
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Which of the following statements are TRUE related to academic standards in

Social Studies?

]

<

oans @é NPy Pirered Homobod) & Sob Ewed” 05PRA 26?

=

) Academic standards are decided based on the recommendations of NPE
— 1986 and NCF — 2005
#P80DH dury Hepso — 1986 (NPE — 1986) n8aiy epdioh Oy @erds Sio
(NCF) — 2005 23rddesh edibenorm dmp; Hareren "fﬁc:cs::#ﬁ:n"’o
B) Academic standards are decided based on the recommendation of NCF —
2005 and SCF — 2011
PHD Dy Gerdse oo — 2005 HBAH oo Doy Perdse So SCF -
2011 RakSes odibdeaorr Nme; Do chmm,aﬁo &
C)  All the academic standards are achieved in the classroom only
o) Dy Hsreren 5158 168" EPED PHodatheron.
D:}I Some academic standards are achieved through field trips and
mterviews
50 Ay Demeren E 580den, 988 TR RHodatEron.
Choose the correct answer:

E‘EIQ 3510 K;F“KJ"%H wODE q':j\j ol

Options :

ABC&D
1. %



A&C only
A& Cirgad

B & D only

B & D Srgad
3.

A, C& Donly
A C& Dsrgd

Question Number : 151 Question Id : 71505315078 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following statements are TRUE related to constructivist

curriculum?

A)  Acquiring knowledge 1s a process

T AT FT0 &f % AT e

B)  There are variations in children in their learning procedures/methods

HATHET W=7 farrar=aT vgdi/agdiaey faear e

C} Concepts are formed from abstract things to conerete things

Choose the correct answer:
I 397 99T
Options :
A&C only

- T A&k C

A & B only

% A& B
2. ¢

B & E‘Dlll:v
3 % F0 B&C



AB&C
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Which of the following statements are TRUE related to constructivist

curriculum?

Aoe s Do (HerdES SomoBod & Bob arEsmed 5559 29?

A)  Acquiring knowledge is a process

azdo SPolito ©3b 2.8 HEah

B)  There are varations in children in their learning procedures/methods
go OFS Arrer /Sed Zo totnod
C)  Concepts are formed from abstract things to concrete things

rdden drerotito @38 @08 JR0Pe ol srf dndired athiddod.

Choose the correct answer:

-

= o af o I - T e R o g

N';]:'f) rJ-:n_l.T'\,,_lcn..:'m::‘ aloas Dohok:
- .

Options:
A &I C {]1115'
A& Cirgad

A & B only
A & B sr@a

2.¢

B&I lel;f
3 % B & C iirgad
4 x AB&C

Question Number : 152 Question Id : 71505315079 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Present Social Science text books at secondary level in our state are developed

with some of the following criteria.

ATAT TTATH [ AT THE FALEL FEATHT AT (AT Ao Te=qsh it dsht

Options :

Integrated approach; different writing styles; in between and end text
questions; maps, tables and graphs and projects
THITCHE g, Ay dae ST, 7l arfr Sae=ar asgy 9o, T, a6

1.4

Integrated approach; Uniform language styles; end text questions and
uniformity in images and maps

UHTTCHT FIhI; THHATT ATIT Sei1; HAFE FATAT e A9 TTHT 2o
THTET Hed THATLETIT

Disciplinary approach; Uniform writing styles; in between questions

and projects

fﬂ\nﬂag E!"‘ gl I'I WWQW, =T 3?1'{:'?1' Yhed a7 -

Disciplinary approach; Tables and graphs; Uniformity in images and
maps; uniform writing styles and projects

fereqa=s TORIA; Sad AT TThH, TTAAT AT TR FHed THATTE I,
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Present Social Science text books at secondary level in our state are developed

with some of the following criteria.

; o P e b =, ] . Y, oY o) _ B _a
308 TPR06°A RBoib Aron ardEre APond” Ne droand @on ard; dasten & Sod Q)
=4 @ & = =2
.
# # A
oirof” SriPobodalid

Options:
Integrated approach; different writing styles; in between and end text
questions; maps, tables and graphs and projects

280,08 (Integrated ) &siisho; 8%y G370 Jenen, 8o g $HBG &rdo DB

w2 - e o e
e3den: wtren, H%en D en: B rE%en
1 _{’5? = ol [ Lt = [+

Integrated approach; Uniform language styles; end text questions and
uniformity in images and maps
28008 &HNM0; 0F BE graf Jenen; ardo OHY @Een; J56E JiFren

(images) £80kn Héren;

2. %
Dizciplinary approach; Uniform writing styles; in between questions
and projects
BB DR0D eBH0; DEBS SIS Fenen: o HlSs Y0 HBE @B Hen
3. %
Disciplinary approach; Tables and graphs; Uniformity in images and
maps; uniform writing styles and projects
HEE DRAD EHi0; &8en B (R eo; 2588 DiEeen (images) HHBEW
Heren; D568 53T Fenen SO EraE%em
4. %
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For development of curriculum. most suitable and pragmatist model was

presented by

Options :
EB. Wesly (1958)
T.49T. IFAT (1958)

1. %

B.S. Bloom (1950)

dt.oH. &=H (1950)
2. %

R.M. Dave (1962)

Ly T 3% (1962)

Ralph Tylor (1969)

T[eE 2= (1969)
4.
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
For development of curriculum, most suitable and pragmatist model was
presented by

o, VY Fiof of _of ol o prhes . w3 e 8 Ol W oot o g '
Qs perds G 5700 o808 edd, @arderd S Sura SoirdHdnd

Options :
EB. Wesly (1958)

.« EB.3§(1958)

B.S. Bloom (1950)

B.S. axro (1950)
2. %



R.M. Dave (1962)
R.M. 53 (1962)

3. %
Ralph Tylor (1969)
o 806 (1969
i Hob (1969)

Question Number : 154 Question Id : 71505315081 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following statement is TRUE related to curriculum approaches?

FTATATHT BT [T ASTHAFATET FATET AT

Options:
Unit approach is formulated baszed on gestalt psychology

’l...-'

Resource unit provides more information to students

2. %

Teaching unit provides required information to the teacher

FLATIA AT TSAFAT ATT$TH HTlgd| T2
3. %

In correlation approach. there is a correlation between the units only
with in the subject

4, %
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Which of the following statement is TRUE related to curriculum approaches?

A PHerds edEres Sonofod & Eob P Dot Sod 365008 26?

Options:

Unit approach is formulated based on gestalt psychﬂl@gr

71-\

-

o

L]

l"f‘}n

c%“\%'{é e J l.'\.-C' C—QT}?OW dor “'Eu Gatisno 88 ":'F:j':'tu'- ondEl.
1.v

Resource unit provides more information to students

Hdhe P Do ﬁ:wé, BHITHD Dy [P TrTrD)) wodihod.

Teaching unit provides required information to the teacher

ﬁ‘j caoe r*JEH F_cm"ﬁ‘u:lmé Seaer e PEIE::."’?_TUT';T;_ E.EEI_?]Q&

In correlation approach. there is a correlation between the units only
with in the subject
DPdosod &8s J85HSE cirdde 5o drEa D050 Somotio

Eoduobd

Question Number : 155 Question Id : 71505315082 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Social Science teacher should follow these maxims in teaching learning
process

HTHTTSTF STT=AT TVAT AATIAT=A1 T4 AT AT AT A el T

Options:
Proceed from unknown to known; complex to simple and abstract to

concrete

1. %



Proceed from known to unknown; complex to simple and rationale to

empirical

ATATHEA AATATHS; FOATHEA ATATHS; AHAGAHST ATAATTHe

Proceed from known to unknown; simple to complex and concrete to

abstract

ATATHE AATATRS, HIATHE Fol1he AT AT FgA qd Fe

3.¢
Proceed from general to specific; abstract to concrete and known to
unknown
AT g 41902 F<, qd Fga A4 F2 AT ATATHgA AATAHS

4. %

Question Number : 155 Question Id : 71505315082 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Social Science teacher should follow these maxime in teaching learning

Process

4
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Options :

Proceed from unknown to known; complex to simple and abstract to
concrete
89607 DQcre Dol BOLS DH0Ire J5; HoS55E ol SEFED Hdan

esirdo ool surdo g

Proceed from known to unknown; complex to simple and rationale to
empirical
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Proceed from known to unknown; simple to complex and concrete to

abstract
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3. ¢
Proceed from general to specific; abstract to concrete and known to
unknown
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Question Number : 156 Question Id : 71505315083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following List A with List B

A TE T e T ATAT ST SB4T.

List-A (Objectives) List-B (Specification)
A (3f5m) B (FrErETm)
A)  Understanding 1.  Mamnipulation
B)  Skill i1.  Interprets data
T Hiiga = A=
C)  Application i1. Recognition
IIATS Aa
D) Knowledge 1v.  Draw inferences

Choose the correct answer:
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Options :

A-1;B—3;C—1v; D—1in
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A-1:B—-n:C—-m:D—1wv

A—1m:B-n:C—-iv-D—1
3. %

A—-1wv:B—-1:C—1;D—1m
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Question Number : 156 Question Id : 71505315083 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Math the following List A with List B

& Bob 0S° =rdiee A D erde B & 285808
List-A (Objectives) List-B (Specification)
e - A (ogeen) 0e° - B ({)h560w)
A)  Understanding 1.  Manipulation
BT TR I LI LR
B) Skl 1.  Interprets data
Jadesgo HErogReid apygriothis
C)  Application 1. Recognition
opcnio rDBohé
D) Knowledge 1v. Draw inferences
P POBTON) €8P0

C]'J.CIDEE Tl'lE‘ COrrect answer.

T oy oot ool :

t\lgﬁ PJ{IJP\.TJDE:‘E‘J; soS ols:
Options :

A-n:B—1:C—1v;D—m
1. ¢

A—-1B-1un:C—m:D—1v
2. ®

A-mB-1un:C—-1v:D-—1
3. %

: MCQ Option Shuffling : Yes
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Question Number : 157 Question Id : 71505315084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The teaching strategy — concept mapping was derived from this psychologist
theory

AEATTATHT G197 AT HFeT= H 9T AT AT AT STIAHET F01T A

Options:

John Dewey’s theory of learning by doing

SiF S5+ B lgl? ALAAA JTIHT

1. %
Ausubel’s learning theory
AT AT TTIA T

2.
Bandura’s social learning theory

3 W .~3 i i HE 2 -
Skinner’s operant conditioning theory
TR ATEH ATHHATT TTIAT
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Question Number : 157 Question Id : 71505315084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The teaching strategy — concept mapping was derived from this psychologist
theory
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John Dewey's theory of learning by doing
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Ausubel’s learning theory
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Bandura’s social learning theory
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Skinner’s operant conditioning theory
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Question Number : 158 Question Id : 71505315085 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following statement 1s NOT TRUE related to lesson planning?

TTBT=AT HASHTET Fa T8 T aashl HITd G&T a7 ATel
Options :

Lesson plan helps the Social Science teacher in effective planning

qT% ST AT ST T8 Tt Fa=T F0aTE Hed Fd
1. %
Lesson plan encourages proper organisation of subject matter and
activities
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2. ®
Les=on plan encourages haphazard teaching
. 15 FE=T AATETT ALATTATH THTET ad
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Lesson plan serves as a check on unplanned curriculum
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Question Number : 158 Question Id : 71505315085 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following statement is NOT TRUE related to lesson planning?
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Options :

Lesson plan helps the Social Science teacher in effective planning

aP¥; BE50, PErHNodhd HO8 TN5E” roan r?"-'é Ty AL oL 55“6‘ Hodnob
1. %
Lesson plan encourages proper organisation of subject matter and
activities
i’“tﬁ adDo $0Bd EyErre 0% Abread are r P80 Fer Hto&od
2. ®
Lezson plan encourages haphazard teaching
e OEl iﬂdéﬁ: L’@ o_IL';-J-:-\Cl .cu ‘3_"';' Vo™ rf.,Da'
3. ¢
Leszon plan serves as a check on unplanned curriculum
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Question Number : 159 Question Id : 71505315086 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following are TRUE related to principles of curriculum

construction?
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Options :

Principle of rigidity; Utility and integration

1. %
Principle of Teacher centredness; Community centredness and Life
centred ness
iﬂ”ﬂqi %ﬁﬂ'ﬂﬁ, q ﬂ*lq %.;J.IE Al ﬂhl HIED a;a!“
2. ®
Principles Evaluation; Evolution and Imbalance
3 % AT HEAHTIA; o0l A7 AT TAT

Principle of Activity centredness; Totality of experiences and creativity
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Question Number : 159 Question Id : 71505315086 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following are TRUE related to principles of curriculum
construction?
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Options :
Principle of rigidity; Utility and integration

£8:5¢ (rigidity ); &5arAE sHBAW HebE e drEren

1. %
Principle of Teacher centredness; Community centredness and Life
centredness
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Principles Evaluation; Evolution and Imbalance
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Principle of Activity centredneas; Totality of experiences and creativity
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Question Number : 160 Question Id : 71505315087 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To teach the utility of land in a village viz. agriculture land; unfertile land,

forest land ete. this graph 1s most suitable
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Options :

Line graph

T AT

1. %

Circle graph
ERlEkE]

2. ¥

Vertical graph

3. %

Horizontal graph
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Question Number : 160 Question Id : 71505315087 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



To teach the utility of land in a village viz. agriculture land; unfertile land,
forest land etc. this graph is most suitable
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Options :
Line graph
1% S0

Circle graph
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Vertical graph
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Horizontal graph
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